/F\

OPAKTAJIBHICTD

TOB «®pakTanbHIiCTb»
03680, m.Kuis, Byn. MawwnHobyaisHa, 6ya. 46

Ten: +38(044) 227-57-73,
Ten./cakc: +38(044) 394-80-94
www.fractalnost.com.ua




SuperTools




inchLFAL
mmUtAE
inchLtAt
mmLtAHZ
inchLIAHZEE)
mmLtAF
inchLFAL

HSSA O 24EH

HSS2H ER-EE

SKSeH Et=EY
SKSeH =2HSE (HHTf)
HSSATHO|ZEH (mm)

HSSAIO|Z & (inch)

5 RROBBRRRBBRRNBRNRBBEES G

5

g B8 &

mmLtA}
inchLFAL
mmLEAH(EHCH)
inchLFAL(EECH)
mmLtAE
inchLpAk

SKS Clo|&

o[ HssClojA

2 883&B R

SKS Efo[ A

H2Cjo|A
ASSENIES

8







=
Il HSS E=m
=]

i SPIRAL FLUTED TAP

- OBIPAIISECZ HAEO| HEAO2 drdot= WIATHOI ZE=LIC

Y-\ AR sjoops9dng

O|E{(metric)L}A} IRENNEES

x=2 =r
d ki &=

T330 0300 3.0 0.50 2 46 11 4 6 3.2 3
T330 0301 3.0 0.60 2 46 11 4 6 3.2 3
T330 0302 3.5 0.60 2 48 13 4 6 3.2 3
T330 0400 4.0 0.70 2 52 13 5, 7 4 3
T330 0401 4.0 0.75 2 52 13 5 7 4 3
T330 0402 4.0 0.50 2 52 13 5 7 4 3
T330 0403 4.5 0.75 2 55 13 5 7 4 3
T330 0404 45 0.50 2 52 13 5, 7 4 3
T330 0500 5.0 0.80 2 60 16 5.5 7 4.5 3
T330 0501 5.0 0.90 2 60 16 5.5 7 4.5 3
T330 0503 50 0.75 2 60 16 5.5 7 4.5 3
T330 0502 5.0 0.50 2 60 16 5.5 7 4.5 3
T330 0504 55 0.90 2 60 16 5.5 7 4.5 3
T330 0506 5.5 0.80 2 60 16 5.5 7 4.5 3
T330 0507 HI5) 0.75 2 60 16 5.5 7 4.5 3
T330 0505 5.5 0.50 2 52 16 5.5 7 4.5 3
T330 0600 6.0 1.00 2 62 19 6 7 4.5 8
T330 0601 6.0 0.75 2 62 19 6 7 4.5 3
T330 0602 6.0 0.50 2 62 19 6 7 4.5 3
T330 0700 7.0 1.00 2 65 19 6.2 8 5 3
T330 0701 7.0 0.75 2 65 19 6.2 8 5 3
T330 0702 7.0 0.50 2 65 19 6.2 8 5) 3
T330 0800 8.0 1.25 2 70 22 6.2 8 5 3
T330 0801 8.0 1.00 2 70 22 6.2 8 5 3
T330 0802 8.0 0.75 2 70 22 6.2 8 5 3
T330 0803 8.0 0.50 2 70 22 6.2 8 5 3
T330 0900 9.0 1.25 2 72 22 7 8 55 3
T330 0901 9.0 1.00 2 72 22 7 8 5.5 3
T330 0902 9.0 0.75 2 72 22 7 8 5.5 3
T330 1000 10.0 1.50 2 75 24 7 8 5.5 3
T330 1001 10.0 1.25 2 75 24 7 8 55 3
T330 1002 10.0 1.00 2 75 24 7 8 5.5 3
T330 1003 10.0 0.75 2 75 24 7 8 5.5 3
T330 1004 10.0 0.50 2 75 24 7 8 5.5 3
T330 1100 11.0 1.50 2 80 24 8 9 6 3
T330 1105 11.0 1.75 2 80 24 8 9 6 3
T330 1101 11.0 1.25 2 80 24 8 9 6 3
T330 1102 11.0 1.00 2 80 24 8 9 6 3
T330 1103 11.0 0.75 2 80 24 8 9 6 3
T330 1104 11.0 0.50 2 80 24 8 9 6 3

6 <S> @HRTIE | & 351031-942-1701, B £:031-942-1706



sjooysadng

e
=i
=il

i

Wil Hss

. SPIRAL FLUTED TAP

(metric)

T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330
T330

1200
1202
1201
1203
1204
1205
1300
1301
1302
1303
1304
1400
1404
1401
1402
1403
1500
1501
1502
1503
1504
1600
1601
1602
1603
1604
1700
1701
1702
1703
1800
1801
1802
1803
1804
1900
1901
1902
1903
1904

12.0
12.0
12.0
12.0
12.0
12.0
13.0
13.0
13.0
13.0
13.0
14.0
14.0
14.0
14.0
14.0
15.0
15.0
15.0
15.0
15.0
16.0
16.0
16.0
16.0
16.0
17.0
17.0
17.0
17.0
18.0
18.0
18.0
18.0
18.0
19.0
19.0
19.0
19.0
19.0

1.75
1.25
1.50
1.00
0.75
0.50
1.75
1.50
1.25
1.00
0.75
2.00
1.75
1.50
1.25
1.00
2.00
1.50
1.25
1.00
0.75
2.00
1.50
1.25
1.00
0.75
2.00
1.50
1.25
1.00
2.50
2.00
1.50
1.25
1.00
2.50
2.00
1.50
1.25
1.00

NNNNDDNDNDNNPNDNNNNDNDNNNDNODNNNDNNNNNDNNDNNNNDNDNNNDDNDNNNDNNDNNNDNDDNDDN

100
100
95
95
100
100
100
95
95
105
105
105
100
100

=
8.5 9 6.5 3
8.5 9 6.5 3
8.5 9 6.5 3
8.5 ) 6.5 3
8.5 9 6.5 3
8.5 9 6.5 3
9.5 10 7 3
9.5 10 7 3
9.5 10 7 3
9.5 10 7 3
9.5 10 7 3
10.5 11 8 3
10.5 11 8 3
10.5 11 8 3
10.5 11 8 3
10.5 11 8 3
10.5 11 8 3
10.5 11 8 3
10.5 11 8 3
10.5 11 8 3
10.5 11 8 3
12,5 13 10 3
12.5 13 10 3
12.5 13 10 3
12.5 13 10 3
12.5 13 10 3
13 13 10 4
13 13 10 4
13 13 10 4
13 13 10 4
14 14 11 4
14 14 11 4
14 14 11 4
14 14 11 4
14 14 11 4
14.5 14 11 4
14.5 14 11 4
14.5 14 11 4
14.5 14 11 4
14.5 14 11 4

& 31:031-942-1701, B 2:031-942-1706 | <S1C> IFHE



s 26
SPIRAL FLUTED TAP

SdV.L IGINELTS

EDP No.

M pitch S L [ d kl k &=
T330 2000 20.0 2.50 2 105 37 15 15 12 4
T330 2001 20.0 2.00 2 105 37 15 15 12 4
T330 2002 20.0 %S 2 105 37 15 15 12 4
T330 2003 20.0 1.50 2 105 37 15 15 12 4
T330 2004 20.0 1.25 2 100 30 15 15 12 4
T330 2005 20.0 1.00 2 95 30 15 15 12 4
T330 2100 21.0 2.50 2 115 38 16 15 12 4
T330 2101 21.0 2.00 2 110 38 16 15 12 4
T330 2102 21.0 1.50 2 105 30 16 15 12 4
T330 2103 21.0 1.25 2 105 30 16 15 12 4
T330 2104 21.0 1.00 2 100 30 16 15 12 4
T330 2200 22.0 2.50 2 115 35 17 16 13 4
T330 2201 22.0 2.00 2 115 35 17 16 13 4
T330 2202 22.0 1.50 2 115 35 17 16 13 4
T330 2203 22.0 1.25 2 105 30 17 16 13 4
T330 2204 22.0 1.00 2 95 30 17 16 13 4
T330 2300 23.0 3.00 2 120 42 19 18 15 4
T330 2301 23.0 2.50 2 115 38 19 18 15 4
T330 2302 23.0 2.00 2 115 38 19 18 15 4
T330 2303 23.0 1.50 2 115 35 19 18 15 4
T330 2304 23.0 1.25 2 105 30 19 18 15 4
T330 2305 23.0 1.00 2 100 30 19 18 15 4
T330 2400 24.0 3.00 2 120 42 19 18 15 4
T330 2401 24.0 2.50 2 115 35 19 18 15 4
T330 2402 24.0 2.00 2 115 35 19 18 15 4
T330 2403 24.0 1.50 2 115 35 19 18 15 4
T330 2404 24.0 %25 2 110 30 19 18 15 4
T330 2405 24.0 1.00 2 95 30 19 18 15 4
T330 2500 25.0 3.00 2 125 42 19 18 15 4
T330 2501 25.0 2.50 2 125 42 19 18 15 4
T330 2502 25.0 2.00 2 125 30 19 18 15 4
T330 2503 25.0 1.50 2 125 30 19 18 15 4
T330 2504 25.0 1.25 2 110 30 19 18 15 4
T330 2505 25.0 1.00 2 110 30 19 18 15 4
T330 2600 26.0 3.00 2 125 45 20 18 15 4
T330 2601 26.0 2.50 2 125 45 20 18 15 4
T330 2602 26.0 2.00 2 125 45 20 18 15 4
T330 2603 26.0 1.75 2 125 30 20 18 15 4
T330 2604 26.0 1.50 2 125 30 20 18 15 4
T330 2605 26.0 1.25 2 110 30 20 18 15 4

8 <« @wE | &3

&
[>



sjooysadng

e
=i
=il

i

Wil Hss

. SPIRAL FLUTED TAP

metric
EDP No.
T330 2606
T330 2700
T330 2701
T330 2702
T330 2703
T330 2704
T330 2705
T330 2800
T330 2801
T330 2802
T330 2803
T330 2804
T330 2805
T330 2900
T330 2901
T330 2902
T330 3000
T330 3001
T330 3002
T330 3003
T330 3004
T330 3005
T330 3006
T330 3100
T330 3200
T330 3207
T330 3201
T330 3202
T330 3203
T330 3204
T330 3205
T330 3206
T330 3300
T330 3301
T330 3302
T330 3303
T330 3304
T330 3305
T330 3400
T330 3401

M
26.0
27.0
27.0
27.0
27.0
27.0
27.0
28.0
28.0
28.0
28.0
28.0
28.0
29.0
29.0
29.0
30.0
30.0
30.0
30.0
30.0
30.0
30.0
31.0
32.0
32.0
32.0
32.0
32.0
32.0
32.0
32.0
33.0
33.0
33.0
33.0
33.0
33.0
34.0
34.0

pitch
1.00
3.00
2.50
2.00
1.50
1.25
1.00
3.00
2.50
2.00
1.50
1.25
1.00
3.00
1.50
1.00
3.50
3.00
2.50
2.00
1.50
1.25
1.00
3.50
3.50
4.00
3.00
2.50
2.00
1.50
1.25
1.00
3.50
3.00
2.50
2.00
1.50
1.00
3.50
3.00

110
130
130
130
130
110
110
130
130
130
130
110
110
135
120
110
135
135
135
135
135
105
105
135
140
145
140
140
140
125
115
115
145
145
145
145
125
115
145
145

30
45
45
45
35
30
30
45
45
45
35
30
30
48
35
30
48
48
45
40
40
30
30
48
48
48
48
45
45
35
30
30
51
48
45
45
35
30
51
48

d
20
20
20
20
20
20
20
21
21
21
21
21
21
22
22
22
23
23
23
23
23
23
23
23
24
24
24
24
24
24
24
24
25
25
25
25
25
25
26
26

kl
18
18
18
18
18
18
18
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
22
22
22
22
22
22
22
22
22
22
22
22
22
22
24
24

k
15
15
15
15
15
15
15
17
17
17
17
17
17
17
17
17
17
17
17
17
17
17
17
17
19
19
19
19
19
19
19
19
19
19
19
19
19
19
21
21

AADMDMEDMDIDAEDMDMDAEDDAAEDDDAEDDLAEDDDAEDDDADDDADEDDDDDADMDDADEDDDLDDADDDDLN !I";

& 31:031-942-1701, B 2:031-942-1706 | <S1C> IFHE



53 2
SPIRAL FLUTED TAP

Y-\ AR sjoops9dng

= B w9y Amg | Awy | awe
EOFNo. M pitch S L [ d i K &=
T330 = 3402 @ 34.0 2.50 2 145 45 26 24 21 4
T330 3403 | 34.0 2.00 2 145 45 26 24 21 4
T330 | 3404 | 34.0 1.50 2 130 35 26 24 21 4
T330 = 3405 = 34.0 1.00 2 115 30 26 24 21 4
T330 @ 3506 | 35.0 4.00 2 155 53 26 24 21 4
T330 3500 @ 35.0 3.50 2 155 53 26 24 21 4
T330 @ 3501 | 35.0 3.00 2 155 53 26 24 21 4
T330 3502 @ 35.0 2.50 2 150 45 26 24 21 4
T330 = 3503 | 35.0 2.00 2 150 45 26 24 21 4
T330 3504 | 35.0 1.50 2 130 35 26 24 21 4
T330 @ 3505 | 35.0 1.00 2 115 30 26 24 21 4
T330 3600 @ 36.0 4.00 2 155 53 28 24 21 4
T330 | 3601 | 36.0 3.50 2 155 53 28 24 21 4
T330 3602 @ 36.0 3.00 2 155 53 28 24 21 4
T330 3603 | 36.0 2.50 2 155 53 28 24 21 4
T330 3604 @ 36.0 2.00 2 155 45 28 24 21 4
T330 3605 | 36.0 1.50 2 130 35 28 24 21 4
T330 3606 & 36.0 1.00 2 115 30 28 24 21 4
T330 = 3650 | 37.0 4.00 2 155 53 28 24 21 4
T330 3651 | 37.0 3.00 2 155 53 28 24 21 4
T330 @ 3652 | 37.0 2.50 2 150 45 28 24 21 4
T330 3653 | 37.0 2.00 2 130 35 28 24 21 4
T330 = 3654 | 37.0 1.50 2 130 35 28 24 21 4
T330 3655 @ 37.0 1.25 2 130 35 28 24 21 4
T330 @ 3656 | 37.0 1.00 2 115 30 28 24 21 4
T330 3750 38.0 4.00 2 160 55 28 24 21 4
T330 3751 | 38.0 3.50 2 160 55 28 24 21 4
T330 3752 @ 38.0 3.00 2 160 55 28 24 21 4
T330 @ 3753 | 38.0 2.50 2 150 45 28 24 21 4
T330 3754 | 38.0 2.00 2 150 45 28 24 21 4
T330 3755 38.0 1.50 2 130 35 28 24 21 4
T330 3756 | 38.0 1.00 2 115 30 28 24 21 4
T330 = 3800 | 39.0 4.00 2 165 55 30 26 23 4
T330 3801 @ 39.0 3.00 2 165 55 30 26 23 4
T330 | 3802 | 39.0 2.50 2 165 55 30 26 23 4
T330 3803 39.0 2.00 2 150 45 30 26 23 4
T330 | 3804 | 39.0 1.50 2 130 35 30 26 23 4
T330 3805 & 39.0 1.00 2 120 30 30 26 23 4
T330 @ 3850 | 40.0 4.00 2 175 55 30 26 23 4
T330 | 3855 | 40.0 4.50 2 175 55 30 26 23 4

10 <sio> EHEHE | M 31031-942-1701, B 2:031-942-1706



sjooysadng

e
=i
=il

i

Wil Hss

. SPIRAL FLUTED TAP

EDP No.
T330 3851
T330 3852
T330 3853
T330 3854
T330 3900
T330 3901
T330 3902
T330 3903
T330 3904
T330 3905
T330 3906
T330 3950
T330 3951
T330 3970
T330 3971
T330 3972
T330 3973
T330 3974
T330 3975
T330 4000
T330 4006
T330 4001
T330 4002
T330 4003
T330 4004
T330 4005
T330 4040
T330 4045
T330 4041
T330 4042
T330 4043
T330 4044
T330 4061
T330 4070
T330 4071
T330 4072
T330 4073
T330 4074
T330 4075
T330 4076

165
150
130
120
175
175
175
150
150
130
125
175
175
180
180
180
150
135
130
180
180
180
180
150
135
130
180
180
180
180
150
140
150
185
185
185
185
170
160
160

45
45
35
30
55
55
55
45
45
35
30
55
55
60
60
60
45
35
30
60
60
60
60
45
35
30
60
60
60
60
45
40
40
60
60
60
60
45
40
40

d
30
30
30
30
32
32
32
32
32
32
32
33
33
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
36
38
38
38
38
38
38
38

kl
26
26
26
26
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
32
32
32
32
32
32
32
32

k
23
23
23
23
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
26
29
29
29
29
29
29
29
29

AADMDMEDMDIDAEDMDMDAEDDAAEDDDAEDDLAEDDDAEDDDADDDADEDDDDDADMDDADEDDDLDDADDDDLN !I";

& 31:031-942-1701, B 2:031-942-1706 | <S1C> IFHE

11



53 2
SPIRAL FLUTED TAP

Y-\ AR sjoops9dng

M pitch S L [ d kl k &=
T330 4100 50.0 5.00 2 195 60 40 35 32 6
T330 4101 50.0 4.00 2 195 60 40 35 32 6
T330 4102 50.0 3.00 2 195 60 40 35 32 6
T330 4103 50.0 2.00 2 170 45 40 35 32 6
T330 4104 50.0 1.50 2 160 40 40 35 32 6
T330 4105 50.0 1.00 2 150 30 40 35 32 6
T330 4150 52.0 5.00 2 195 60 42 35 32 6
T330 4151 52.0 4.00 2 195 60 42 35 32 6
T330 4152 52.0 3.00 2 195 60 42 35 32 6
T330 4153 52.0 2.00 2 170 45 42 35 32 6
T330 4154 52.0 1.50 2 160 40 42 35 32 6
T330 4181 53.0 2.00 2 170 45 42 35 32 6
T330 4200 54.0 5.00 2 175 45 44 38 35 6
T330 4201 54.0 4.00 2 175 45 44 38 85] 6
T330 4202 54.0 2.00 2 175 45 44 38 35 6
T330 4220 55.0 2.00 2 200 65 44 38 35 6
T330 4221 55.0 1.50 2 175 40 44 38 35 6
T330 4230 56.0 5.50 2 200 65 44 38 85] 6
T330 4231 56.0 5.00 2 200 65 44 38 35 6
T330 4232 56.0 4.00 2 200 65 44 38 35 6
T330 4233 56.0 3.00 2 200 65 44 38 35 6
T330 4234 56.0 2.00 2 175 45 44 38 35 6
T330 4235 56.0 1.50 2 175 40 44 38 35 6
T330 4270 58.0 5.50 2 210 70 46 38 35 6
T330 4271 58.0 3.00 2 210 70 46 38 35 6
T330 4272 58.0 2.00 2 210 70 46 38 35 6
T330 4350 60.0 5.50 2 215 70 46 38 35 6
T330 4351 60.0 5.00 2 215 70 46 38 85} 6
T330 4352 60.0 4.00 2 215 70 46 38 35 6
T330 4353 60.0 2.00 2 175 40 46 38 35 6
T330 4354 60.0 1.50 2 175 40 46 38 35 6
T330 4500 64.0 6.00 2 225 75 48 42 38 6
T330 4503 64.0 5.50 2 215 70 48 42 38 6
T330 4504 64.0 4.00 2 215 70 48 42 38 6
T330 4501 64.0 3.00 2 210 55 48 42 38 6
T330 4502 64.0 2.00 2 200 50 48 42 38 6

12 <1 EREHE | M 31031-942-1701, B 2:031-942-1706



sjooysadng

ol
I
BRI - rureo

A 3 O

S 53 | aMx  uaps JEHE OS2 | d I K &=
T330 5060 & NO4 40  UNC | 2845 2 46 11 4 6 3.2 3
T330 5080 & NO5 40 UNC | 3175 2 46 11 4 B 3.2 3
T330 | 5100 & NO6 32 UNC | 3505 2 48 13 4 5 29 3
T330 5101 = NOG6 40 @ UNF | 3505 2 48 13 4 B 3.2 3
T330 5120 | NOS8 32 UNC | 4166 2 52 13 5 7 4 3
T330 5121 = NOS8 36 UNF | 4166 2 52 13 5 7 4 3
T330 | 5140 &= NO10 24  UNC | 4286 2 60 16 55 7 45 3
T330 5141 = NO10 32  UNF | 4286 2 60 16 55 7 45 3
T330 5170 | NO12 @24 @ UNC | 5486 @ 2 60 16 s 7 45 3
T330 5171 @ NO12 28 @ UNF | 5486 2 60 16 55 7 45 3
T330 | 5172 | NO12 32 UNEF | 5486 2 60 16 55 7 45 3
T330 5300 1/8 40 w 3175 | 2 46 11 4 6 3.2 3
T330 @ 5302 1/8 44 SM | 3175 @ 2 46 11 4 6 22 3
T330 5330 | 9/64 | 40 SM | 3572 2 48 16 4 B 32 3
T330 | 5400 @ 5/32 @ 32 w 3969 2 52 14 5 7 4 3
T330 5460 @ 11/64 @ 40 SM | 4366 2 52 14 5 7 4 3
T330 | 5500 | 3/16 | 24 w 4763 2 60 16 55 7 45 3
T330 5502 @ 3/16 @ 28 SM | 4763 2 60 18 S 7 45 2
T330 | 5503 | 3/16 | 32 SM | 4763 2 60 18 e 7 45 3
T330 5590 @ 7/32 @ 24 w 5556 | 2 60 18 55 7 45 3
T330 | 5660 | 15/64 | 28 SM | 5953 @ 2 62 20 6 7 45 3
T330 5661 | 15/64 @ 40 5953 | 2 62 20 6 7 45 3
T330 @ 5701 1/4 20 UNC | 6350 2 62 19 6 7 45 g
T330 5702 1/4 24 SM | 6350 2 62 19 6 7 45 3
T330 @ 5703 1/4 28 = UNF | 6350 2 62 19 6 7 45 3
T330 5704 | 1/4 32  UNEF | 6350 2 62 19 6 7 45 3
T330 5801 | 5/16 @ 18 & UNC | 7.938 2 70 22 6.1 8 5 3
T330 5802 @ 5/16 | 20 UN | 7938 2 70 22 6.1 8 5 g
T330 5803 | 5/16 @ 24 = UNF | 7.938 2 70 22 6.1 8 5 3
T330 5804 @ 5/16 @ 28 NS | 7938 2 70 22 6.1 8 5 3
T330 5805 | 5/16 @ 32 @ UNEF | 7.938 2 70 22 6.1 8 5 3
T330 5901 @ 3/8 16 = UNC | 9525 2 75 24 7 8 55 3
T330 5902 | 3/8 18 NS | 9525 @2 75 24 7 8 55 3
T330 5903 & 3/8 24 UNF | 9525 2 75 24 7 8 55 3
T330 5904 | 3/8 28 SM | 9525 @ 2 75 24 7 8 55 3
T330 5905 @ 3/8 32  UNEF | 9525 2 75 24 7 8 55 3
T330 6001 | 7/16 @ 14 @ UNC | 11112 2 80 25 8 9 9 3
T330 6002 @ 7/16 = 20 = UNF | 11112 2 80 25 8 9 B 3

& 31:031-942-1701, B 2:031-942-1706 | 51> @wmE 13



=

sjooyiadng
T |
5]
L Ll

i 3¢
SPIRAL FLUTED TAP ;

3

# 3
sy wa iz

T330 6003 7116 24 UNS 11.112 2 80 25 8 9 6 3
T330 6004 7/16 28 UNEF | 11.112 2 80 25 8 9 6 3
T330 3005 7/16 32 UN 11.112 2 80 25 8 9 6 3
T330 6100 1/2 12 w 12.700 2 85 29 9 10 7 3
T330 6101 1/2 13 UNC 12.700 2 85 29 9 10 7 3
T330 6103 1/2 20 UNF 12.700 2 85 29 9 10 7 3
T330 6105 1/2 28 UNEF | 12.700 2 85 29 9 10 7 3
T330 6106 1/2 32 UN 12.700 2 85 29 9 10 7 3
T330 6161 9/16 12 UNC 14.288 2 90 30 10.5 11 8 3
T330 6163 9/16 18 UNF 14.288 2 90 30 10.5 11 8 3
T330 6164 9/16 20 SM 14.288 2 90 30 10.5 11 8 3
T330 6165 9/16 24 UNEF | 14.288 2 90 30 10.5 11 8 3
T330 6166 9/16 28 NS 14.288 2 90 30 105 11 8 3
T330 6201 5/8 11 UNC 15.875 2 95 32 12 12 9 3
T330 6202 5/8 14 UNF 15.875 2 95 32 12 12 9 3
T330 6203 5/8 18 UNF 15.875 2 95 32 12 12 9 3
T330 6204 5/8 20 NS 15.875 2 95 32 12 12 9 3
T330 6205 5/8 24 UNEF | 15.875 2 95 32 12 12 9 3
T330 6220 11/16 11 17.462 2 100 35 14 14 11 4
T330 6402 3/4 10 UNC 19.050 2 105 37 14 14 11 4
T330 6403 3/4 16 UNF 19.050 2 105 37 14 14 11 4
T330 6404 3/4 20 UNEF | 19.050 2 100 30 14 14 11 4
T330 6405 3/4 24 UNS 19.050 2 100 30 14 14 11 4
T330 6501 718 9 UNC 22.225 2 115 38 17 16 13 4
T330 6502 718 14 UNF 22.225 2 115 38 17 16 13 4
T330 6503 7/8 18 UNS 22.225 2 115 30 17 16 13 4
T330 6504 718 20 UN 22.225 2 115 30 17 16 13 4
T330 6601 1" 8 UNC 25.400 2 125 45 20 18 15 4
T330 6602 1" 12 UNF 25.400 2 125 45 20 18 15 4
T330 6603 1" 14 UNS 25.400 2 125 44 20 18 15 4
T330 6604 1" 16 UN 25.400 2 125 45 20 18 15 4
T330 6605 1" 20 UNEF | 25.400 2 110 30 20 18 15 4
T330 6620 | 1" 1/16 | 12 UN 26.988 2 130 40 20 18 15 4
T330 6621 | 1" 1/16 14 26.988 2 130 46 20 18 15 4
T330 6700 1" 1/8 7 UNC 28.575 2 135 43 22 20 17 4
T330 6701 1" 1/8 8 UN 28.575 2 135 43 22 20 17 4
T330 6702 1" 1/8 12 UNF 28.575 2 135 43 22 20 17 4
T330 6703 1" 1/8 16 UN 28.575 2 135 43 22 20 17 4

14 <10 @FHE | &H5031-942-1701, © £:031-942-1706



sloo_uadns

i

Wil Hss

i SPIRAL FLUTED TAP

EDP No.
T330 6704
T330 6800
T330 6801
T330 6802
T330 6810
T330 6811
T330 7000
T330 7001
T330 7002
T330 7100
T330 7101
T330 7102
T330 7200
T330 7201
T330 7300
T330 7301
T330 7302
T330 7600
T330 7601

53
1" 1/8
1" 1/4
1" 1/4
1" 1/4
1" 5/16
1" 5/16
1" 3/8
1" 3/8
1" 3/8
1"1/2
1"1/2
1"1/2
1" 5/8
1" 5/8
1" 3/4
1" 3/4
1" 3/4

o

o

7 2
A
18
7
8
12
7
12

41/2

LIAP|S
UNEF
UNC
UN
UNF

UNF
UNC
UN
UNF
UNC
UN
UNF
UNC
UN
UNC
UN
UN
UNC
UN

71E20d

28.575
30.163
30.163
30.163
33.338
33.338
34.925
34.925
34.925
38.100
38.100
38.100
41.275
41.275
44.450
44.450
44.450
50.800
50.800

opn
Il

NNDNPNDNDDNNNNDNNNDNNDNNDNNNDNNDDNDDNDDN

L | d kI k =T
135 43 22 20 17 4
145 48 24 22 19 4
145 48 24 22 19 4
145 48 24 22 19 4
145 53 25 22 19 4
145 45 25 22 19 4
155 55 26 24 21 4
150 45 26 24 21 4
150 45 26 24 21 4
160 55 30 26 23 4
160 55 30 26 23 4
160 55 30 26 23 4
170 53 32 30 26 4
150 45 32 30 26 4
175 55 35 30 26 4
175 55 35 30 26 4
175 55 35 30 26 4
195 55 40 35 32 6
195 55 40 35 32 6

& 31:031-942-1701, B 2:031-942-1706 | <S1C> IFHE

15



Ml HSS Amjolas & (ut
Bl HSS ATOJ! & (LY s

LEFT SPIRAL FLUTED TAP

i ]
=3
=

Y-\ AR sjoops9dng

O|E{ (metric)LIA} T335 (XtLIAN Al2l=

T Ha R
Sl 53 x| S= L [ d P K =
T335 = 0300 3.0 0.50 2 46 11 4 6 52 B
T335 0400 4.0 0.70 2 52 13 5 7 4 3
T335 = 0500 5.0 0.80 2 60 16 5.5 7 45 3
T335 0600 6.0 1.00 2 62 19 6 7 45 3
T335 0601 6.0 0.75 2 62 19 6 7 45 3
T335 0700 7.0 1.00 2 65 19 6.2 8 5 2
T335 = 0701 7.0 0.75 2 65 19 6.2 8 5 3
T335 0800 8.0 1.25 2 70 22 6.2 8 5 3
T335 0801 8.0 1.00 2 70 22 6.2 8 5 3
T335 = 0802 8.0 0.75 2 70 22 6.2 8 5 3
T335 1000 = 10.0 1.50 2 75 24 7 8 5.5 3
T335 1001 = 10.0 1.25 2 75 24 7 8 5.5 3
T335 1003 = 10.0 1.00 2 75 24 7 8 5.5 3
T335 1200 @ 12.0 1.75 2 82 29 8.5 9 6.5 3
T335 1202 @ 120 1.25 2 82 29 8.5 9 6.5 3
T335 1201 @ 120 1.50 2 82 29 8.5 9 6.5 3
T335 1203 | 12.0 1.00 2 82 29 8.5 9 6.5 3
T335 1400 @ 14.0 2.00 2 88 30 10.5 11 8 3
T335 1401 | 14.0 1.50 2 88 30 105 11 8 3
T335 = 1402 @ 140 1.25 2 88 30 105 11 8 B
T335 = 1403 = 14.0 1.00 2 88 30 10.5 11 8 3
T335 1500 @ 15.0 2.00 2 90 30 10.5 11 8 3
T335 1501 | 15.0 1.50 2 90 30 10.5 11 8 3
T335 102 15.0 1.25 2 90 30 105 11 8 3
T335 = 103 15.0 1.00 2 90 30 105 11 8 2
T335 1600 @ 16.0 2.00 2 95 32 12,5 13 10 3
T335 1601 | 16.0 1.50 2 95 32 12.5 13 10 3
T335 1602 @ 16.0 1.25 2 95 32 125 13 10 3
T335 1603 | 16.0 1.00 2 95 32 125 13 10 3
T335 1800 @ 18.0 2.50 2 100 35 14 14 11 4
T335 1801 | 18.0 2.00 2 100 35 14 14 11 4
T335 1802 @ 18.0 1.50 2 100 35 14 14 11 4
T335 1803 = 18.0 1.25 2 95 30 14 14 11 4
T335 1804 @ 18.0 1.00 2 95 30 14 14 11 4
T335 = 2000 @ 20.0 2.50 2 105 37 15 15 12 4
T335 2001 @ 20.0 2.00 2 105 37 15 15 12 4
T335 2002 @ 20.0 1.75 2 105 37 15 15 12 4
T335 2003 @ 20.0 1.50 2 105 37 15 15 12 4
T335 2200 @ 22.0 2.50 2 115 35 17 16 13 4
T335 2201 @ 220 2.00 2 115 35 17 16 13 4

16 <€ @FHE | &H5031-942-1701, © £:031-942-1706



sloo_uadns

gﬁlll
| A H}
Su HSS AIIIO| 2! EH (HILH)

LEFT SPIRAL FLUTED TAP

OIE{ (metric)LIA} T335 (XtLIAN Al2l=

7 = =3 R
EDP No. 53 ] =2 i | : i B fi
T335 2202 22.0 1.50 2 115 35 17 16 13 4
T335 2203 22.0 1.25 2 105 30 17 16 13 4
T335 2204 22.0 1.00 2 95 30 17 16 13 4
T335 2400 24.0 3.00 2 120 42 19 18 15 4
T335 2402 24.0 2.00 2 115 35 19 18 15 4
T335 2403 24.0 1.50 2 115 35 19 18 15 4
T335 2500 25.0 3.00 2 125 42 19 18 15 4
T335 2502 25.0 2.00 2 125 30 19 18 15 4
T335 2503 25.0 1.50 2 125 30 19 18 15 4
T335 2504 25.0 1.25 2 110 30 19 18 15 4
T335 2505 25.0 1.00 2 110 30 19 18 15 4
T335 2600 26.0 3.00 2 125 45 20 18 15 4
T335 2602 26.0 2.00 2 125 45 20 18 15 4
T335 2604 26.0 1.50 2 125 30 20 18 15 4
T335 2606 26.0 1.00 2 110 30 20 18 15 4
T335 2700 27.0 3.00 2 130 45 20 18 15 4
T335 2702 27.0 2.00 2 130 45 20 18 15 4
T335 2703 27.0 1.50 2 130 35 20 18 15 4
T335 2704 27.0 1.25 2 110 30 20 18 15 4
T335 2705 27.0 1.00 2 110 30 20 18 15 4
T335 2800 28.0 3.00 2 130 45 21 20 17 4
T335 2802 28.0 2.00 2 130 45 21 20 17 4
T335 2803 28.0 1.50 2 130 35 21 20 17 4
T335 2804 28.0 1.25 2 110 30 21 20 17 4
T335 2805 28.0 1.00 2 110 30 21 20 17 4
T335 3000 30.0 3.50 2 135 48 23 20 17 4
T335 3001 30.0 3.00 2 135 48 23 20 17 4
T335 3003 30.0 2.00 2 135 45 23 20 17 4
T335 3004 30.0 1.50 2 135 35 23 20 17 4

[ A71ZE=9oE RIE7HsEL AR Q)F Hight),

& 31:031-942-1701, B 2:031-942-1706 | <S10> FemE 17



=
Il HSS A0 & (Ht fiss 2
= SS 210 (EHH)

LEFT SPIRAL FLUTED TAP

Y-\ AR sjoops9dng

O1X|(Inch) LIA} T335 (HHH) AI2I=
7 o
. z
T335 5300 1/8 40 W 3.175 2 46 11 4 6 3.2 3
T335 5400 5/32 32 W 3.969 2 52 14 5 7 4 3
T335 5500 3/16 24 W 4.763 2 60 16 55 7 4.5 3
T335 5502 3/16 28 SM 4.763 2 60 18 5.5 7 4.5 3
T335 5701 1/4 20 UNC 6.350 2 62 19 6 7 4.5 3
T335 5703 1/4 28 UNF 6.350 2 62 19 6 7 4.5 3
T335 5801 5/16 18 UNC 7.938 2 70 22 6.1 8 5 3
T335 5803 5/16 24 UNF 7.938 2 70 22 6.1 8 5 3
T335 5901 3/8 16 UNC 9.525 2 75 24 7 8 55 3
T335 5903 3/8 24 UNF 9.525 2 75 24 7 8 55 3
T335 6001 7116 14 UNC 11.112 2 80 25 8 9 6 3
T335 6002 7/16 20 UNF 11.112 2 80 25 8 9 6 3
T335 6100 1/2 12 W 12.700 2 85 29 9 10 7 3
T335 6101 1/2 13 UNC 12.700 2 85 29 9 10 7 3
T335 6103 1/2 20 UNF 12.700 2 85 29 9 10 7 3
T335 6201 5/8 11 UNC 15.875 2 95 32 12 12 9 3
T335 6203 5/8 18 UNF 15.875 2 95 32 12 12 9 3
T335 6402 3/4 10 UNC 19.050 2 105 37 14 14 11 4
T335 6403 3/4 16 UNF 19.050 2 105 37 14 14 11 4
T335 6501 718 9 UNC 22.225 2 115 38 17 16 13 4
T335 6502 718 14 UNF 22.225 2 115 38 17 16 13 4
T335 6601 1" 8 UNC 25.400 2 125 45 20 18 15 4
T335 6602 1" 12 UNF 25.400 2 125 45 20 18 15 4
T335 6603 1" 14 UNS 25.400 2 125 44 20 18 15 4

D A71EEQ 0T MA7HssteY AR g HighTh

18 <S> EHEHE | M 31031-942-1701, B 2:031-942-1706



sjooy19dng
T |
==l

Wl HSS Amo|2 & (A=)

SPIRAL FLUTED TAP (TiN)

O|E{ (metric)LIA}

T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331
T331

0300
0040
0050
0053
0060
0061
0080
0081
0100
0101
0120
0122
0121
0140
0141
0160
0161
0180
0182
0200
0203
0220
0222
0240
0243

1030
1040
1050
1053
1060
1061
1080
1081
1100
1101
1120
1122
1121
1140
1141
1160
1161
1180
1182
1200
1203
1220
1222
1240
1243

3.0
4.0
5.0
5.0
6.0
6.0
8.0
8.0
10.0
10.0
12.0
12.0
12.0
14.0
14.0
16.0
16.0
18.0
18.0
20.0
20.0
22.0
22.0
24.0
24.0

T331(08)

0.50
0.70
0.80
0.75
1.00
0.75
1.25
1.00
1.50
1.25
1.75
1.25
1.50
2.00
1.50
2.00
1.50
2.50
1.50
2.50
1.50
2.50
1.50
3.00
1.50

NNPNDNNMNMNMNDNDNDNNNNDNDNNMNNMNNDNDNNNDNNDMNNDNNDNDNDDNDDN

100
100
105
105
115
115
120
115

lQ)d

d k s
11 4 6 3.2 3
13 5 7 4 3
16 55 7 4.5 3
16 5.5 7 4.5 3
19 6 7 4.5 3
19 6 7 4.5 3
22 6.2 8 5 3
22 6.2 8 5 3
24 7 8 5.5 3
24 7 8 5.5 3
29 8.5 9 6.5 3
29 8.5 9 6.5 3
29 8.5 9 6.5 3
30 10.5 11 8 3
30 10.5 11 8 3
32 12.5 13 10 3
32 125 13 10 3
35 14 14 11 4
35 14 14 11 4
37 15 15 12 4
37 15 15 12 4
35 17 16 13 4
35 17 16 13 4
42 19 18 15 4
35 19 18 15 4

D A71EB 0 ME7HsstoY AF)E Higth

& 3:031-942-1701, B £:031-942-1706 | <§1C> RFTHE

19



HSS AM0IE & (18]

SPIRAL FLUTED TAP (TiN)

SdV.L IGINELTS
2
il

x J
02
:J_

Ok
00
10
HU
=
=) M
olr Ty
OS]
4
o
o
(OS]
H 2

Xl(Inch) LA}

T331( ) Al =

LIAP|S
T331 5030 6030 1/8 40 w 3.175
T331 5040 6040 5/32 32 w 3.969
T331 | 5050 @ 6050 3/16 24 w 4.763
T331 5061 6061 1/4 20 UNC 6.350
T331 5071 | 6071 5/16 18 UNC 7.938
T331 5081 6081 3/8 16 UNC 9.525
T331 5091 6091 7116 14 UNC 11.112
T331 5100 6100 1/2 12 w 12.700
T331 5101 6101 1/2 13 UNC 12.700
T331 5110 6110 9/16 12 UNC 14.288
T331 5121 6121 5/8 11 UNC 15.875
T331 5132 6132 3/4 10 UNC 19.050
T331 5141 6141 718 9 UNC 22.225
T331 5151 6151 1" 8 UNC 25.400

NNDNNNMNMNNMNMNNMNNDNNNDNNDDNDDN

105
115
125

i

BBEA D OWWWWWWWWWWW

D A7 EEQOE ME NSty AE9E Highut

20 <10 @FHE | M 351031-942-1701, B 2:031-942-1706



sjooy19dng

| O|E EH |
= ulil HSS ZERIE

i GUN POINTED TAP

c &S AYIISSOZ FAZ0| HEHO2 HMllol=

El

|ATHON SBBILICE,

YT
d k &=
T340 0300 3.0 0.50 2 46 11 4 6 3.2 3
T340 0301 3.0 0.60 2 46 12 4 6 3.2 3
T340 0302 3.5 0.60 2 48 13 4 6 3.2 3
T340 0400 4.0 0.70 2 52 13 5 7 4 3
T340 0402 4.0 0.50 2 52 13 5 7 4 3
T340 0500 50 0.80 2 60 16 55 7 4.5 3
T340 0503 5.0 0.75 2 60 16 55 7 4.5 3
T340 0502 5.0 0.50 2 60 13 5.5 7 4.5 3
T340 0600 6.0 1.00 2 62 19 6 7 4.5 3
T340 0601 6.0 0.75 2 62 19 6 7 4.5 3
T340 0602 6.0 0.50 2 62 13 6 7 4.5 3
T340 0700 7.0 1.00 2 65 19 6.2 8 5 3
T340 0701 7.0 0.75 2 65 19 6.2 8 5 3
T340 0702 7.0 0.50 2 62 20 6.2 8 5 3
T340 0800 8.0 1.25 2 70 22 6.2 8 5 3
T340 0801 8.0 1.00 2 70 22 6.2 8 5 3
T340 0802 8.0 0.75 2 70 22 6.2 8 5 3
T340 0803 8.0 0.50 2 70 22 6.2 8 5 3
T340 1000 10.0 1.50 2 75 24 7 8 55 3
T340 1001 10.0 1.25 2 75 24 7 8 55 3
T340 1002 10.0 1.00 2 75 24 7 8 55 3
T340 1003 10.0 0.75 2 75 22 7 8 55 3
T340 1004 10.0 0.50 2 75 22 7 8 55 3
T340 1200 12.0 1.75 2 82 29 8.5 9 6.5 3
T340 1202 12.0 1.25 2 82 29 8.5 9 6.5 3
T340 1201 12.0 1.50 2 82 29 8.5 9 6.5 3

D A71EB 0 ME7HsEtRY AE)E Higth

&3:031-942-1701, B £:031-942-1706 | <§10> @emE 21



HSS 2"

O|E EH

e —

GUN POINTED TAP

Y-\ A B sjoopsadng
o
ofm

[e:E~PS

ﬂ—l

o2 Liot=

NSV

x4t

SiLICH

Xl(Inch) LIA} T340 Al2I=
T =

LAPIE d % &
T340 = 5400 | 5/32 @ 32 W 3969 2 = 14 5 7 4 3
T340 5500 @ 3/16 @ 24 W 4763 2 60 19 55 7 45 B
T340 = 5701 1/4 20 UNC | 6350 2 62 19 6 7 45 3
T340 5801 @ 5/16 @ 18 @ UNC | 7.938 2 70 7 6.1 8 5 3
T340 5901 @ 3/8 16 = UNC | 9525 2 75 24 7 8 55 3
T340 6001 @ 7/16 = 14  UNC | 11112 2 80 25 8 9 6 3
T340 = 6100 1/2 12 W | 12700 2 85 29 9 10 7 4
T340 6101 1/2 13 | UNC | 12700 2 85 29 9 10 7 B

D A71ER0 T RIE7HsEL AR Q)F High T,

22 <10 @FEE | M 31031-942-1701, B 2:031-942-1706



s/ooyadng

i HSS &

. GUN POl

O|E EH

e —

NTED TAP (TiN)

(d8)

OlE{ (metric)LIA}

T341
T341
T341
T341
T341
T341
T341
T341
T341
T341
T341
T341

0030
0040
0050
0053
0060
0061
0080
0081
0100
0101
0120
0121

1030
1040
1050
1053
1060
1061
1080
1081
1100
1101
1120
1121

3.0
4.0
5.0
5.0
6.0
6.0
8.0
8.0
10.0
10.0
12.0
12.0

T341(8) Aldl=

0.50
0.70
0.80
0.75
1.00
0.75
1.25
1.00
1.50
1.25
1.75
1.50

NDNDNNNNDNNMNMNNMNMNNDNDDNDDN

d k &=
11 4 6 3.2 3
13 5 7 4 3
16 55 7 4.5 3
16 5.5 7 4.5 3
19 6 7 4.5 3
19 6 7 4.5 3
22 6.2 8 5 3
22 6.2 8 5 3
24 7 8 5.5 3
24 7 8 55 3
29 8.5 9 6.5 3
29 8.5 9 6.5 3

[ A71EE o MZ7Hssteu AR Qg Higth

& 31:031-942-1701, B 2:031-942-1706 | <S1C> GwEE 23



1
i ss ol= & (35,
B O v oe o =

Y-\ A B sjoopsadng
1
o

x
02
A=)
(]3]
00
|0
Hu
=
rm

or k-
(IS]
la}
et
[l
O\J
H =

O1X|(Inch) LIA} T341(AE) Al2I=

d k &=
T341 | 5031 | 6031 1/8 40 W 3.175 2 46 11 4 6 3.2 3
T341 5040 6040 5/32 | 32 w3969 2 52 @ 14 5 7 4 g
T341 | 5050 | 6050 3/16 24 W 4,763 2 60 19 55 7 4.5 3
T341 5061 @ 6061 1/4 20 UNC 6.350 2 62 19 6 7 4.5 3
T341 | 5071 | 6071 5/16 18 UNC 7.938 2 70 22 6.1 8 5 3
T341 5081 6081 3/8 16 UNC | 9525 2 75 24 7 8 55 B
T341 | 5091 | 6091 7/16 14 UNC 11.112 2 80 25 8 9 6 3
T341 | 5100 6100 1/2 12 W 12.700 2 85 29 9 10 7 3
T341 | 5101 | 6101 1/2 13 UNC 12.700 2 85 29 9 10 7 3

D A71EE 0 E AETHssteY AF 02 Highth

24 <10 @FTE | & 351031-942-1701, W £:031-942-1706



HEN
S =
:,EEIIN HSS SH=EH
o [l p— | @
%s“. HSS HAND TAP
CAEYUS I3 oA BALBA, HA| 30 1 X2 T OIUBLIC =]
- B2 XMOIH UBITY, ERITY 220z AEILICH >
« 2| 20l= AYZAU| [t 2249 H=E02 Aol 22 =1 USLICH a

O|E{ (metric)LIA} T310 Al2I=

3

T310 0300 3.0 0.50 2 46 16 4 6 3.2 3
T310 0304 3.0 0.60 2 46 16 4 6 3.2 3
T310 0308 35 0.60 2 48 18 4 6 3.2 3
T310 0400 4.0 0.70 2 52 18 5 7 4 3
T310 0404 4.0 0.75 2 52 18 5 7 4 3
T310 0416 4.0 0.50 2 52 15 5 7 4 3
T310 0408 4.5 0.75 2 52 15 5 7 4 3
T310 0412 4.5 0.50 2 52 15 5 7 4 3
T310 0500 5.0 0.80 2 60 18 5.5 7 4.5 3
T310 0504 5.0 0.90 2 60 18 5.5 7 45 3
T310 0508 5.0 0.50 2 52 15 5.5 7 4.5 3
T310 0516 55 0.90 2 60 18 5.5 7 4.5 3
T310 0512 5.5 0.50 2 52 15 5.5 7 4.5 3
T310 0600 6.0 1.00 2 62 20 6 7 4.5 3
T310 0604 6.0 0.75 2 62 20 6 7 4.5 3
T310 0608 6.0 0.50 2 62 20 6 7 4.5 3
T310 0700 7.0 1.00 2 65 26 6.2 8 B 4
T310 0704 7.0 0.75 2 62 20 6.2 8 5 4
T310 0708 7.0 0.50 2 62 20 6.2 8 B 4
T310 0800 8.0 1.25 2 70 30 6.2 8 5 4
T310 0804 8.0 1.00 2 70 30 6.2 8 5 4
T310 0808 8.0 0.75 2 62 20 6.2 8 5 4
T310 0812 8.0 0.50 2 62 20 6.2 8 B 4
T310 0900 9.0 1.25 2 72 30 7 8 5.5 4
T310 0904 9.0 1.00 2 70 30 7 8 5.5 4
T310 0908 9.0 0.75 2 62 20 7 8 55 4
T310 0912 9.0 0.50 2 62 20 7 8 55 4
T310 1000 10.0 1.50 2 75 32 7 8 55 4
T310 1004 10.0 1.25 2 75 32 7 8 5.5 4
T310 1009 10.0 1.00 2 70 30 7 8 5.5 4
T310 1012 10.0 0.75 2 62 20 7 8 55 4
T310 1016 10.0 0.50 2 62 20 7 8 55 4
T310 1100 11.0 1.50 2 80 38 8 9 6 4
T310 1104 11.0 1.25 2 75 38 8 9 6 4
T310 1108 11.0 1.00 2 70 30 8 9 6 4
T310 1112 11.0 0.75 2 62 20 8 9 6 4
T310 1200 12.0 1.75 2 82 38 8.5 9 6.5 4
T310 1208 12.0 1.25 2 80 38 8.5 ) 6.5 4
T310 1204 12.0 1.50 2 82 38 8.5 9 6.5 4
T310 1212 12.0 1.00 2 70 30 8.5 9 6.5 4

& 31:031-942-1701, Y £:031-942-1706 | <§10> @wmE 25



3| HSS SH=EH

e —

. HSS HAND TAP

S flet gezA i“i.’ SALFAO 3O 122 RS 0IASLICH
0l 2fel7Y, E=i7Y 23822 AgELICE
Ol= ZHYEAH0 [eh 2249 H=0= Al8dk= 4t =1 USLIC

Y-\ AR sjoops9dng

OJE{ (metric)LIA} IENDNEES
PN — k] o e 28y | ARsH
. s= [ ¢ | o+ [ da [ Wk [ k |

T310 1216 12.0 0.75 2 65 25 8.5 9 6.5
T310 1220 12.0 0.50 2 65 25 8.5 9 6.5
T310 1300 13.0 1.50 2 85 42 95 10 7
T310 1304 13.0 1.00 2 70 30 9.5 10 7
T310 1400 14.0 2.00 2 88 42 10.5 11 8
T310 1408 14.0 1.75 2 88 42 10.5 11 8
T310 1404 14.0 1.50 2 88 42 10.5 11 8
T310 1412 14.0 1.25 2 80 38 10.5 11 8
T310 1416 14.0 1.00 2 70 30 10.5 11 8
T310 1500 15.0 2.00 2 95 45 10.5 11 8
T310 1504 15.0 1.50 2 90 42 10.5 11 8
T310 1508 15.0 1.00 2 70 30 10.5 11 8
T310 1600 16.0 2.00 2 95 45 12.5 13 10
T310 1604 16.0 1.50 2 95 45 12.5 13 10
T310 1608 16.0 1.25 2 90 40 12.5 13 10
T310 1612 16.0 1.00 2 75 30 12.5 13 10
T310 1700 17.0 2.00 2 95 45 13 13 10
T310 1704 17.0 1.50 2 95 45 13 13 10
T310 1800 18.0 2.50 2 100 48 14 14 11
T310 1808 18.0 2.00 2 95 45 14 14 11
T310 1804 18.0 1.50 2 95 45 14 14 11
T310 1812 18.0 1.25 2 90 40 14 14 11
T310 1816 18.0 1.00 2 80 30 14 14 11
T310 1900 19.0 2.50 2 100 48 14.5 14 11
T310 2000 20.0 2.50 2 105 50 15 15 12
T310 2008 20.0 2.00 2 95 45 15 15 12
T310 2004 20.0 1.50 2 95 45 15 15 12
T310 2012 20.0 1.00 2 80 30 15 15 12
T310 2100 21.0 1.50 2 95 45 16 15 12
T310 2200 22.0 2.50 2 115 55 17 16 13
T310 2208 22.0 2.00 2 95 45 17 16 13
T310 2204 22.0 1.50 2 95 45 17 16 13
T310 2212 22.0 1.00 2 85 30 17 16 13
T310 2400 24.0 3.00 2 120 58 19 18 15
T310 2408 24.0 2.50 2 115 55 19 18 15
T310 2404 24.0 2.00 2 95 45 19 18 15
T310 2412 24.0 1.50 2 95 45 19 18 15
T310 2416 24.0 1.25 2 95 45 19 18 15
T310 2420 24.0 1.00 2 90 30 19 18 15
T310 2424 25.0 3.00 2 130 60 19 18 15

A DABAAAEDPADDDIMDDMDEAELAEDAEDDDDDMIAELEDDDDDDEAELAEDDDDDDIEALAEDLAEDDDDIALADNDDDDIALNS !Igh

26 <S> @FTE | & 351031-942-1701, W £:031-942-1706



W] ]
S =
;Eﬁllﬂ HSS OHL=EH
o [l p— | @
%a“. HSS HAND TAP
< SRS Q5 HORA BHAL ZAL FANO| BJJF 1 RE AT USLICH <
- B2 XMOIH UBITY, ERITY 220z AEILICH >
- Z|201= HYXA0| @2} 22to| =02 AIRSHE 2RIt s USLICH 3

O|E{ (metric)LIA} T310 Al2I=

e 7 4 - =y 23 AN=Z Avy  ameW |,
3y i == . /4 Lk =
T310 2503 25.0 2.00 2 95 45 19 18 15 4
T310 2508 25.0 1.00 2 95 30 19 18 15 4
T310 2600 26.0 3.00 2 130 60 20 18 15 4
T310 2608 26.0 2.50 2 120 58 20 18 15 4
T310 2604 26.0 2.00 2 95 45 20 18 15 4
T310 2612 26.0 1.50 2 95 45 20 18 15 4
T310 2616 26.0 1.00 2 95 30 20 18 15 4
T310 2700 27.0 3.00 2 130 62 20 18 15 4
T310 2704 27.0 2.00 2 95 45 20 18 15 4
T310 2708 27.0 1.50 2 95 45 20 18 15 4
T310 2712 27.0 1.00 2 95 30 20 18 15 4
T310 2800 28.0 3.00 2 130 62 21 20 17 4
T310 2804 28.0 2.00 2 105 45 21 20 17 4
T310 2808 28.0 1.50 2 105 45 21 20 17 4
T310 2812 28.0 1.00 2 105 30 21 20 17 4
T310 3000 30.0 3.50 2 135 65 23 20 17 4
T310 3008 30.0 3.00 2 135 65 23 20 17 4
T310 3004 30.0 2.00 2 105 45 23 20 17 4
T310 3012 30.0 1.50 2 105 45 23 20 17 4
T310 3016 30.0 1.00 2 105 30 23 20 17 4
T310 3200 32.0 3.50 2 145 70 24 22 19 4
T310 3204 32.0 3.00 2 135 65 24 22 19 4
T310 3208 32.0 2.00 2 105 45 24 22 19 4
T310 3212 32.0 1.00 2 105 30 24 22 19 4
T310 3300 33.0 3.50 2 145 70 25 22 19 4
T310 3308 33.0 3.00 2 145 70 25 22 19 4
T310 3304 33.0 2.00 2 110 45 25 22 19 4
T310 3312 33.0 1.50 2 110 45 25 22 19 4
T310 3400 34.0 3.50 2 145 70 26 24 21 4
T310 3404 34.0 2.00 2 110 45 26 24 21 4
T310 3412 34.0 1.50 2 110 45 26 24 21 4
T310 3416 34.0 1.00 2 110 30 26 24 21 4
T310 3600 36.0 4.00 2 155 75 28 24 21 4
T310 3604 36.0 3.00 2 155 75 28 24 21 4
T310 3608 36.0 2.00 2 110 45 28 24 21 4
T310 3612 36.0 1.50 2 110 45 28 24 21 4
T310 3616 36.0 1.00 2 110 40 28 24 21 4
T310 3750 38.0 4.00 2 165 80 28 24 21 4
T310 3754 38.0 3.00 2 165 80 28 24 21 4
T310 3758 38.0 2.00 2 115 45 28 24 21 4

& 31:031-942-1701, B £:031-942-1706 | 10> reemE 27



A HSS SH=EH
. HSS HE\IFTTP }

|
01 23172 & I;g Aoz ABEL
oI X2A0 T2} 24240 HEOZ ABoH= 220} sD YBULH

Y-\ AR sjoops9dng

O|E{ (metric)L}A} T310 Al2I=

i

T310 3762 38.0 1.50 2 115 45 28 24 21 4
T310 3800 39.0 4.00 2 165 80 30 26 23 4
T310 3804 39.0 3.00 2 165 80 30 26 23 4
T310 3808 39.0 2.00 2 115 45 30 26 23 4
T310 3850 40.0 4.00 2 165 80 30 26 23 4
T310 3854 40.0 3.00 2 165 80 30 26 23 4
T310 3858 40.0 2.00 2 115 45 30 26 23 4
T310 3862 40.0 1.50 2 115 45 30 26 23 4
T310 3900 42.0 4.50 2 175 85 32 30 26 4
T310 3904 42.0 3.00 2 175 85 32 30 26 4
T310 3908 42.0 2.00 2 120 45 32 30 26 4
T310 3912 42.0 1.50 2 120 45 32 30 26 4
T310 3940 43.0 3.00 2 175 80 33 30 26 4
T310 3970 44.0 4.50 2 180 85 35 30 26 4
T310 3974 44.0 3.00 2 175 80 35 30 26 4
T310 3978 44.0 2.00 2 120 45 35 30 26 4
T310 3982 44.0 1.50 2 120 45 35 30 26 4
T310 4000 45.0 4.50 2 180 85 35 30 26 4
T310 4004 45.0 3.00 2 180 80 35 30 26 4
T310 4008 45.0 2.00 2 120 45 35 30 26 4
T310 4012 45.0 1.50 2 120 45 35 30 26 4
T310 4040 46.0 4.50 2 180 85 35 30 26 4
T310 4044 46.0 3.00 2 180 80 35 30 26 4
T310 4048 46.0 2.00 2 125 45 35 30 26 4
T310 4052 46.0 1.50 2 125 45 35 30 26 4
T310 4070 48.0 5.00 2 185 90 38 32 29 4
T310 4074 48.0 3.00 2 180 80 38 32 29 4
T310 4078 48.0 2.00 2 125 45 38 32 29 4
T310 4082 48.0 1.50 2 125 45 38 32 29 4
T310 4100 50.0 5.00 2 195 90 40 35 32 6
T310 4140 50.0 3.00 2 180 80 40 35 32 6
T310 4108 50.0 2.00 2 130 45 40 35 32 6
T310 4112 50.0 1.50 2 130 45 40 35 32 6

[ A71EE 0 E AETHssteY AF 02 Highth

28 <10 @RHE | M 31031-942-1701, B 2:031-942-1706



=

sjooysadng
T |
==l
=

SH = EH
ItISSSSH;\IFTAP

L AXIQIS JBH O A BALEAL HAY 3D} 1 X2 2T ISLITH =
. B2 NH0|H OHEITY E2ITY AROZ AISELIC >
< Z|20)S TR0 T2} 22t0] == ARSI O 51 USLICH a

OIX|(Inch) LIA} T310 Al21=

sy we s

T310 5060 | NO 4 UNC 2.845 2 44 16 3 B 25 3
T310 5064 | NO 4 48 UNF 2.845 2 44 16 3 5 25 3
T310 5080 | NO 5 40 UNC 3.175 2 46 11 4 6 3.2 3
T310 5084 | NO 5 44 UNF 3.175 2 46 11 4 6 3.2 3
T310 5100 | NO 6 32 UNC 3.505 2 48 12 4 6 3.2 3
T310 5104 | NO 6 40 UNF 3.505 2 48 12 4 6 3.2 3
T310 5120 | NO 8 32 UNC 4.166 2 52 20 5 7 4 3
T310 5124 | NO 8 36 UNF 4.166 2 52 20 5 7 4 3
T310 5140 | NO 10 24 UNC 4.286 2 60 22 5.5 7 4.5 3
T310 5148 | NO 10 32 UNF 4.286 2 60 18 5.5 7 4.5 3
T310 5170 | NO 12 24 UNC 5.486 2 60 22 5.5 7 4.5 3
T310 5174 | NO 12 28 UNF 5.486 2 60 22 5.5 7 4.5 3
T310 5178 | NO 12 32 UNEF 5.486 2 60 22 5.5 7 4.5 3
T310 5330 9/64 40 SM 3.572 2 48 22 4 6 3.2 3
T310 5590 7132 24 w 5.556 2 60 18 5.5 7 4.5 3
T310 5750 9/32 20 SM 7.144 S 65 26 6.1 8 5 3
T310 5754 9/32 28 SM 7.144 3 65 26 6.1 8 B 3
T310 5400 5/32 32 w 3.969 2 52 14 5 7 4 3
T310 5500 3/16 24 W 4.763 2 60 18 5.5 7 4.5 3
T310 5508 3/16 28 SM 4.763 2 60 18 5.5 7 4.5 3
T310 5512 3/16 32 SM 4.763 2 60 18 5.5 7 4.5 3
T310 5468 11/64 40 SM 4.366 2 55 20 5 7 4 3
T310 5304 1/8 40 W 3.175 2 46 11 4 6 3.2 3
T310 5305 1/8 44 SM 3.175 2 46 11 4 6 3.2 3
T310 5660 15/64 24 5.953 2 62 24 6 7 4.5 3
T310 5664 15/64 28 SM 5.953 2 62 24 6 7 4.5 3
T310 5704 1/4 20 UNC 6.350 2 62 20 6 7 4.5 3
T310 5708 1/4 24 SM 6.350 2 62 24 6 7 4.5 3
T310 5712 1/4 28 UNF 6.350 2 62 24 6 7 4.5 3
T310 5716 1/4 32 UNEF 6.350 2 62 24 6 7 4.5 3
T310 5804 5/16 18 UNC 7.938 2 70 30 6.1 8 B 4
T310 5816 5/16 24 UNF 7.938 2 70 30 6.1 8 5 4
T310 5824 5/16 28 NS 7.938 2 70 30 6.1 8 5 4
T310 5828 5/16 32 UNEF 7.938 2 70 30 6.1 8 5) 4
T310 5904 3/8 16 UNC 9.525 2 75 35 7 8 5.5 4
T310 5908 3/8 18 NS 9.525 2 75 35 7 8 5.5 4
T310 5912 3/8 24 UNF 9.525 2 75 35 7 8 5.5 4
T310 5920 3/8 28 SM 9.525 2 70 30 7 8 5.5 4
T310 5924 3/8 32 UNEF 9.525 2 70 30 7 8 5.5 4
T310 6004 7116 14 UNC 11.112 2 80 38 8 9 6 4
T310 6008 7116 20 UNF 11.112 2 80 38 8 9 6 4
T310 6012 7116 24 UNS 11.112 2 80 38 8 9 6 4
T310 6016 7116 28 UNEF | 11.112 2 70 30 8 9 6 4
T310 6020 7/16 32 UN 11.112 2 70 30 8 9 6 4
T310 6100 1/2 12 W 12.700 2 85 42 9 10 7 4

& 31:031-942-1701, B £:031-942-1706 | <§1C> @rmE 29



SS SHEH

e —

SS HAND TAP

Y-\ AR sjoops9dng

O1x|(Inch) L}AL

T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310
T310

6104
6108
6116
6120
6164
6172
6176
6180
6184
6204
6208
6212
6216
6220
6404
6408
6412
6416
6504
6508
6604
6608
6612
6616
6704
6708
6712
6716
6804
6808
6812
7004
7008
7012
7104
7108
7112
7200
7208
7300
7308
7312
7604
7608

/\_I SIAF =AF X

ST, 57, o

Ct=0O

[ R

22t 50 ASLICH

12.700
12.700
12.700
12.700
14.288
14.288
14.288
14.288
14.288
15.875
15.875
15.875
15.875
15.875
19.050
19.050
19.050
19.050
22.225
22.225
25.400
25.400
25.400
25.400
28.575
28.575
28.575
28.575
30.163
30.163
30.163
34.925
34.925
34.925
38.100
38.100
38.100
41.275
41.275
44.450
44.450
44.450
50.800

T310 Al2I=
4
LBy A LKADIS
12 13 UNC
12 20  UNF
12 | 28 | UNEF
12 | 32
9/16 | 12 = UNC
9/16 | 18  UNF
9/16 | 20 = SM
9/16 | 24  UNEF
9/16 | 28  UNS
58 | 11  UNC
58 | 14
58 | 18  UNF
58 | 20  UNS
58 | 24 UNEF
3/4 | 10 = UNC
34 | 16  UNF
3/4 | 20  UNEF
34 | 24 UNS
7/8 9  UNC
7/8 | 14 UNF
1" 8  UNC
1" 12 UNF
i 14 NS
1" 20 UNEF
1"1/8 7 | UNC
1"1/8 8 UN
1"1/8 12 UNF
1"1/8 16 UN
1"1/4 7 | UNC
1"1/4 8 UN
1"1/4 12 UNF
1" 3/8 6 UNC
1" 3/8 8 UN
1"3/8 12 UNF
1"1/2 = 6 | UNC
1"1/2 | 8 UN
1"1/2 | 12 UNF
1"5/8 5 | UNC
1"5/8 12 UN
1"3/4 5  UNC
1"3/4 8 UN
1"3/4 12 UN
2" 412 UNC
2" 8 UN

50.800

& A1 BRI 1E2 RS 0IASLICH
Y, E.7Y 3802 ARZELICH
2 M8ot=s

NNNNNNNNNDNNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDNDDN

135
130
105
105
145
145
105
155
155
110
160
145
115
175
120
175
175
120
195
165

%

(o2 e B R R i i i i = i S S N S S S S S S S S A S S S I T T i T i T S TE TG SR S S S S S

30 <10 @RHE | M 31:031-942-1701, B 2:031-942-1706



sloo_uadns

1)
il

HSS

SH=EH

e —

[HHCH)

LEFT HSS HAND TAP

O|E{ (metric)LIA}

T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315
T315

0300
0400
0404
0500
0600
0604
0800
0804
1000
1004
1200
1208
1204
1400
1404
1600
1604
1800
1804
1812
2000
2004

3.0
4.0
4.0
5.0
6.0
6.0
8.0
8.0
10.0
10.0
12.0
12.0
12.0
14.0
14.0
16.0
16.0
18.0
18.0
18.0
20.0
20.0

0.50
0.70
0.75
0.80
1.00
0.75
1.25
1.00
1.50
1.25
1.75
1.25
1.50
2.00
1.50
2.00
1.50
2.50
1.50
1.25
2.50
1.50

NNNDPNDNDNNNDDNDNNNMNNDNNNNDNNDNNNDNDNDNDDN

T315(HHH) Ald]=

46
52
52
60
62
62
70
70
75
75
82
80
82
88
88
95
95
100
95
90
105
95

16
18
18
18
20
20
30
30
32
32
38
38
38
42
42
45
45
48
45
40
50
45

K}—j—%‘ za
4 6 3.2 3
5 7 4 3
5 7 4 3
5.5 7 4.5 3
6 7 4.5 3
6 7 4.5 3
6.2 8 5 4
6.2 8 5 4
7 8 5.5 4
7 8 5.5 4
8.5 9 6.5 4
8.5 9 6.5 4
8.5 9 6.5 4
10.5 11 8 4
10.5 11 8 4
12.5 13 10 4
12,5 13 10 4
14 14 11 4
14 14 11 4
14 14 11 4
15 15 12 4
15 15 12 4

D A7 EEQOIE AE7Fssley AF ) Highut.

& 51:031-942-1701, B 2:031-942-1706 | <§1C> @HmE 31



| HSS pHEe
=T HSS SHEEH (HHH)

i LEFT HSS HAND TAP

Y-\ AR sjoops9dng

O1X|(Inch) LIA} T315(HHH) Al2I=
7 =
d k &=

T315 5400 5/32 32 W 3.969 2 52 14 5 7 4 3
T315 5500 3/16 24 W 4,763 2 60 18 55 7 4.5 3
T315 5300 1/8 40 W 3.175 2 46 11 4 6 3.2 3
T315 5704 1/4 20 UNC 6.350 2 62 20 6 7 4.5 3
T315 5804 5/16 18 UNC 7.938 2 70 30 6.1 8 5 4
T315 5904 3/8 16 UNC 9.525 2 75 35 7 8 55 4
T315 6004 7116 14 UNC 11.112 2 80 38 8 9 6 4
T315 6100 1/2 12 W 12.700 2 85 42 9 10 7 4
T315 6104 1/2 13 UNC 12.700 2 85 42 9 10 7 4
T315 6164 9/16 12 UNC 14.288 2 90 42 10.5 11 8 4
T315 6204 5/8 11 UNC 15.875 2 95 45 12 12 9 4
T315 6404 3/4 10 UNC 19.050 2 105 50 14 14 11 4
T315 6504 718 9 UNC 22.225 2 115 55 17 16 13 4
T315 6604 1" 8 UNC 25.400 2 125 60 20 18 15 4

D A71EEQOE ®METFsteL] AAolg Hghlth

32 <10 @FTE | & 354031-942-1701, W £:031-942-1706



|I HSS ATNI0|2 e enE

HSS SPIRAL FLUTED PIPE TAP

-a

el LIZLIAL U802 LHUZEE0! HAHALIAHPS) X JIHZEE HAYBLIAHPF NPS)E IS AHZEILICH
« ZEHI0 IlH O’LH\}E JtSot=dl /\}9°’LIE}.

Y-\ AR sjoops9dng
.J
0t0

Luiess: PT(Re) IEEVNEES
A X LEX] =2 ZIEX] Ziga=
oy s qy | S8 1EEem T8 =8 AT8 avd wTE gl
T332 0105 | PT 1/16 28 2 10.1 55 14 5.6 7 45 3
T332 0110 @ PT 1/8 28 2 13 55 19 8 9 B 3
T332 0115 | PT 1/4 19 2 21 62 28 11 12 9 3
T332 0150 @ PT 3/8 19 2 21 65 28 14 14 11 3
T332 0125 | PT 1/2 14 2 25 80 35 18 17 14 4
T332 0135 | PT 3/4 14 2 25 85 35 23 20 17 4
T332 0145 | PT1" 11 2 32 95 45 26 21 21 4
T332 | 0155 | PT1"1/4 & 11 2 32 105 45 32 26 26 4
T332 0160 | PT 1"1/2 11 2 32 110 45 38 29 29 6
T332 0170 | PT 2" 11 2 35 120 50 46 35 35 B
Lieiss: NPT T332 Al2I=
R *="=ﬂ1|
EDP No. = ulxl 2 1=z . "
T332 = 0405  NPT1/16 2 8 9 3
T332 0410 NPT 1/8 27 2 12.05 55 19 8 9 6 3
T332 0415 NPT 1/4 18 2 | 1745 | 62 28 11 12 9 3
T332 0420 NPT 3/8 18 2 | 1765 | 65 28 14 14 11 3
T332 0425 NPT 1/2 14 2 | 2285 80 35 18 17 14 4
T332 0435 NPT 3/4 14 2 | 2295 85 35 23 20 17 4
T332 0445 NPT 1" 1112 | 2 27.4 95 45 26 21 21 4
T332 0455 NPT 1"1/4 1112 | 2 281 | 105 45 32 26 26 4
T332 0460 NPT 1"1/2 1112 | 2 284 | 110 45 38 29 29 6
T332 0470 | NPT 2" 1112 | 2 28 120 50 46 35 35 6
Luess: PF(G) IEEVINEES
E) o e =
22700 53 | s= L [ d Y K &=
T332 0205 | PF1/16 28 2 55 19 6.5 8 5 3
T332 0210 | PF 1/8 28 2 55 19 8 9 6 3
T332 0215 | PF 1/4 19 2 62 28 11 12 9 3
T332 0220 @ PF 3/8 19 2 65 28 14 14 11 3
T332 0225 | PF 1/2 14 2 80 35 18 17 14 4
T332 0235 | PF 3/4 14 2 85 35 23 20 17 4
T332 0245 | PF 1" 11 2 95 45 26 21 21 4
T332 0255 @ PF1"1/4 11 2 105 45 22 30 26 4
T332 0260 | PF1"1/2 11 2 110 45 38 29 29 6
T332 0265 @ PF1"3/4 11 2 115 45 42 35 32 6
T332 = 0270 | PE 2" 11 2 120 50 46 35 35 6

33 <10 @REE | & 31031-942-1701, B 2:031-942-1706



sjooyiadng

By
ﬁll HSS AIO|ZY USEH

HSS SPIRAL FLUTED PIPE TAP

(i I

S B3 LZLIA Q202 QIZER0 HHOLIAIPS)Y JI NS BHALIAHPF,NPS)E IR ASELICH <
- B2E0IH LUARE JH2oH=0 ALRBILICH >
- LIS (PT), DI HZBE (NPT) O] USLICH g

Ik

=

Liei==: PS(Rp) IERVINEES
Kk

T332 0305 PS1/16 28 2 55 19 6.5 8 5 3
T332 0310 PS 1/8 28 2 55 19 8 9 6 3
T332 0315 PS 1/4 19 2 62 28 11 12 9 3
T332 0320 PS 3/8 19 2 65 28 14 14 11 3
T332 0325 PS 1/2 14 2 80 35 18 17 14 4
T332 0335 PS 3/4 14 2 85 35 23 20 17 4
T332 0345 pPS 1" 11 2 95 45 26 24 21 4
T332 0355 PS 1"1/4 11 2 105 45 32 30 26 4
T332 0360 PS 1"1/2 11 2 110 45 38 29 29 6
T332 0370 pPS 2" 11 2 120 50 46 35 35 6

Lieiss: NPS T332 Al2I=X

ki k =
T332 | 0505 | NPS1/16 27 2 55 18 8 9 6 3
T332 | 0510 | NPS 1/8 27 2 55 19 8 9 6 3
T332 | 0515 | NPS 1/4 18 2 62 28 11 12 9 3
T332 = 0520 | NPS 3/8 18 2 65 28 14 14 11 3
T332 | 0525 | NPS 1/2 14 2 80 35 18 17 14 4
T332 | 0535 | NPS 3/4 14 2 85 35 23 20 17 4
T332 | 0545 | NPS 1" 111/2 2 95 45 26 24 21 4
T332 | 0555 | NPS1"1/4 111/2 2 105 45 32 30 26 4
T332 | 0560 | NPS1"1/2 111/2 2 110 45 38 32 29 4
T332 | 0570 | NPS 2" 111/2 2 120 50 46 35 35 6

D A71EE 0T MZ7Hssteu AR g Highth

& 31:031-942-1701, B £:031-942-1706 | <§10> @FHE 34



| HS oHE e Ees

HSS HAND PIPE TAP

-a

el LIZLIAL U802 LHUZEE0! HAHALIAHPS) X JIHZEE HAYBLIAHPF NPS)E IS AHZEILICH
« ZEHI0 IlH O’LH\}E JtSot=dl /\}9°’LIE}.

Y-\ AR sjoops9dng
.J
0t0

Lieiz=: PT(Rc) T312 Al2I=
A X LEX] = ZIEX] i — 1=
EDP No. ey | my | 52 vwmma O SF ATE T8 AEEN 4.
T312 0105 PT 1/16 28 2 10.1 50 14 5.6 7 4.5 4
T312 @ 0110 PT 1/8 28 2 13 55 19 8 9 6 4
T312 0115 PT 1/4 19 2 21 62 28 11 12 9 4
T312 0120 PT 3/8 19 2 21 65 28 14 14 11 4
T312 0125 PT 1/2 14 2 25 80 35 18 17 14 4
T312 @ 0135 PT 3/4 14 2 25 85 35 23 20 17 4
T312 0145 PT 1" 11 2 32 95 45 26 24 21 4
T312 0155 PT 1"1/4 11 2 32 105 45 32 26 26 4
T312 0160 PT 1"1/2 11 2 32 110 45 38 29 29 6
T312 @ 0165 PT 1"3/4 11 2 32 115 45 42 35 32 6
T312 0170 PT 2" 11 2 35 120 50 46 35 35 6
Lieiss: NPT (MHH T312 Al2I=
A XA LEX] = 2t X| Pl 1=
— - SIS E e — @3 wg ey awy awed
T312 0405 | NPT1/16 27 2 12 55 18 8 6 4
T312 0410 | NPT 1/8 27 2 12.05 55 19 8 9 6 4
T312 0415 | NPT 1/4 18 2 17.45 62 28 11 12 9 4
T312 | 0420 NPT 3/8 18 % 1765 = 65 28 14 14 11 4
T312 | 0425 | NPT 1/2 14 2 2285 80 35 18 17 14 4
T312 0435 NPT 3/4 14 2 | 2295 85 35 23 20 17 4
T312 | 0445 NPT 1" 11172 2 27.4 95 45 26 21 21 4
T312 0455 NPT 1"1/4 11172 B 28.1 105 45 32 26 26 4
T312 | 0460 NPT 1"1/2 1112 | 2 284 110 45 38 29 29 6
T312 0470 NPT 2" 11172 2 28 120 50 46 35 35 6
Liueizs: PF(G) T312 Al2l1=
e T D
EDP No. o " sz : | 5 i . 24
T312 | 0205 PF1/16 28 2 55 19 6.5 8 5 4
T312 @ 0210 PF 1/8 28 2 55 19 8 9 6 4
T312 0215 PF 1/4 19 2 62 28 11 12 9 4
T312 0220 PF 3/8 19 2 65 28 14 14 11 4
T312 0225 PF 1/2 14 2 80 35 18 17 14 4
T312 @ 0235 PF 3/4 14 2 85 35 23 20 17 4
T312 0245 PF 1" 11 2 95 45 26 21 21 4
T312 @ 0255 PF 1"1/4 11 2 105 45 32 26 26 4
T312 0260 PF 1"1/2 11 2 110 45 38 29 29 6
T312 0265 PF 1"3/4 11 2 115 45 42 35 32 6
T312 0270 PF 2" 11 2 120 50 46 35 35 6

35 <10 @REE | & 31031-942-1701, B 2:031-942-1706



s/ooyadng

_ bl
ﬂ" HSS 6H|: I'._*gﬂ 33 JHSS-E

HSS HAND PIPE TAP

[

=)

B2 AUA Y202 ILZER0 HAALIAPS)Y T HZER HHALIAPFNPS)E JIRE T AIREILIC <
- B2E0IH LUARE JH2oH=0 ALRBILICH >
- LIS (PT), DI HZBE (NPT) O] USLICH g

=

Liei==: PS(Rp) T312 Al2lI=
Kk

T312 0305 PS1/16 28 2 55 19 6.5 8 5 4
T312 0310 PS 1/8 28 2 55 19 8 9 6 4
T312 0315 PS 1/4 19 2 62 28 11 12 9 4
T312 0320 PS 3/8 19 2 65 28 14 14 11 4
T312 0325 PS 1/2 14 2 80 35 18 17 14 4
T312 0335 PS 3/4 14 2 85 35 23 20 17 4
T312 0345 pPS 1" 11 2 95 45 26 21 21 4
T312 0355 PS 1"1/4 11 2 105 45 32 26 26 4
T312 0360 PS 1"1/2 11 2 110 45 38 29 29 6
T312 0370 PS 2" 11 2 120 50 46 35 35 6

Lieis=: NPS (2181 T312 Al2I=

ki k =
T312 | 0505 | NPS1/16 27 2 55 18 8 9 6 4
T312 @ 0510 | NPS 1/8 27 2 55 19 8 9 6 4
T312 | 0515 | NPS 1/4 18 2 62 28 11 12 9 4
T312 | 0520 | NPS 3/8 18 2 65 28 14 14 11 4
T312 | 0525 | NPS 1/2 14 2 80 35 18 17 14 4
T312 @ 0535 | NPS 3/4 14 2 85 35 23 20 17 4
T312 | 0545 | NPS 1" 111/2 2 95 45 26 24 21 4
T312 | 0555 | NPS 1"1/4 111/2 2 105 45 32 26 26 4
T312 | 0560 | NPS 1"1/2 111/2 2 110 45 38 29 29 6
T312 | 0570 | NPS 2" 111/2 2 120 50 46 35 35 6

D A7 EEQIOIE AE7Hsatey AR )F HighuT.

& 3:031-942-1701, B £:031-942-1706 | <§1C> FHE 36



sjooysadng

SYJE AN0IE

LONG SHANK SPIRAL FLUTED TAP

iz8o= HAE

I

O|E{ (metric)LIA}

T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333
T333

0030
0040
1040
2040
0050
1050
2050
0060
1060
2060
0080
1080
2080
3080
0081
1081
2081
3081
0100
1100
2100
3102
0101
1101
2101
3101
0102
1102
2102
3102
0120
1120
2120
3120
0122
1122
2122
3122
0121

3.0
4.0
4.0
4.0
5.0
5.0
5.0
6.0
6.0
6.0
8.0
8.0
8.0
8.0
8.0
8.0
8.0
8.0
10.0
10.0
10.0
10.0
10.0
10.0
10.0
10.0
10.0
10.0
10.0
10.0
12.0
12.0
12.0
12.0
12.0
12.0
12.0
12.0
12.0

T333 Al

0.50
0.70
0.70
0.70
0.80
0.80
0.80
1.00
1.00
1.00
1.25
1.25
1.25
1.25
1.00
1.00
1.00
1.00
1.50
1.50
1.50
1.50
1.25
1.25
1.25
1.25
1.00
1.00
1.00
1.00
1.75
1.75
1.75
1.75
1.25
1.25
1.25
1.25
1.50

NNNPNDNDNNNDNDNDNNPNDNDNNNDNNNDNDNNDNDNDNNDNDDNNNNDDNDNNNDDNDNNDNDNDDN

(|

[ATHOH

=

X3

100
100
120
150
100
120
150
100
120
150
100
120
150
200
100
120
150
200
100
120
150
200
100
120
150
200
100
120
150
200
100
120
150
200
100
120
150
200
100

SiLICH

d k A
4 6 3.2 3
5 7 4 3
5 7 4 3
5 7 4 3
5.5 7 4.5 3
5.5 7 4.5 3
55 7 4.5 3
6 7 4.5 3
6 7 4.5 3
6 7 4.5 3
6.2 8 5 3
6.2 8 5 3
6.2 8 5 3
6.2 8 5 3
6.2 8 5 3
6.2 8 5 3
6.2 8 5 3
6.2 8 5 3
7 8 5.5 3
7 8 5.5 3
7 8 55 3
7 8 5.5 3
7 8 5.5 3
7 8 55 3
7 8 5.5 3
7 8 55 3
7 8 5.5 3
7 8 5.5 3
7 8 5.5 3
7 8 5.5 3
8.5 9 6.5 3
8.5 9 6.5 3
8.5 9 6.5 3
8.5 9 6.5 3
8.5 9 6.5 3
8.5 9 6.5 3
8.5 9 6.5 3
8.5 9 6.5 3
8.5 9 6.5 3

& 31:031-942-1701, B £:031-942-1706 | 610> reemE 37



SMTEIY AT0|E SE

LONG SHANK SPIRAL FLUTED TAP

OIREOT HAZO| ISEOR YMSIS TIAIN S

SdV.L IGINELTS
2
roh
4

O|E{ (metric)LIA} IEEEDNEES
T Ha D
Sl 53 x| s= L [ d P K =
T333 1121 | 12.0 1.50 2 120 29 8.5 9 6.5 B
T333 2121 @ 12.0 1.50 2 150 29 8.5 9 6.5 3
T333 3121 | 12.0 1.50 2 200 29 8.5 9 6.5 3
T333 | 0123 | 12.0 1.00 2 100 29 8.5 9 6.5 3
T333 1123 | 12.0 1.00 2 120 29 8.5 9 6.5 3
T333 2123 @ 12.0 1.00 2 150 29 8.5 9 6.5 3
T333 3123 | 12.0 1.00 2 200 29 8.5 9 6.5 3
T333 0140 | 14.0 2.00 2 100 30 10.5 11 8 3
T333 | 1140 | 14.0 2.00 2 120 30 10.5 11 8 3
T333 2140 @ 14.0 2.00 2 150 30 105 11 8 3
T333 3140 @ 14.0 2.00 2 200 30 105 11 8 3
T333 0141 @ 14.0 1.50 2 100 30 10.5 11 8 3
T333 | 1141 | 14.0 1.50 2 120 30 10.5 11 8 3
T333 2141 | 14.0 1.50 2 150 30 10.5 11 8 3
T333 3141 @ 14.0 1.50 2 200 30 10.5 11 8 3
T333 0160 @ 16.0 2.00 2 100 32 125 13 10 3
T333 1160 | 16.0 2.00 2 120 32 12,5 13 10 3
T333 2160 | 16.0 2.00 2 150 32 125 13 10 3
T333 | 3160 | 16.0 2.00 2 200 32 125 2 10 3
T333 0161 | 16.0 1.50 2 100 32 125 13 10 B
T333 | 1161 | 16.0 1.50 2 120 32 125 13 10 3
T333 2161 @ 16.0 1.50 2 150 32 125 13 10 3
T333 | 3161 | 16.0 1.50 2 200 32 125 13 10 3
T333 1180 | 18.0 2.50 2 120 35 14 14 11 4
T333 2180 | 18.0 2.50 2 150 35 14 14 11 4
T333 3180 @ 18.0 2.50 2 200 35 14 14 11 4
T333 1181 | 18.0 2.00 2 120 35 14 14 11 4
T333 2181 | 18.0 2.00 2 150 35 14 14 11 4
T333 3181 | 18.0 2.00 2 200 35 14 14 11 4
T333 1182 | 18.0 1.50 2 120 35 14 14 11 4
T333 2182 | 18.0 1.50 2 150 35 14 14 11 4
T333 3182 @ 18.0 1.50 2 200 35 14 14 11 4
T333 1200 | 20.0 2.50 2 120 37 15 15 12 4
T333 2200 | 20.0 2.50 2 150 37 15 15 12 4
T333 | 3200 | 20.0 2.50 2 200 37 15 15 12 4
T333 1201 = 20.0 2.00 2 120 37 15 15 12 4
T333 2201 | 20.0 2.00 2 150 37 15 15 12 4
T333 3201 | 20.0 2.00 2 200 37 15 15 12 4
T333 1202 | 20.0 1.50 2 120 37 15 15 12 4

38 <10 @WTE | & 51031-942-1701, W £:031-942-1706



s/ooyadng

' SATE}Ql AMQ|S EX

LONG SHANK SPIRAL FLUTED TAP

jl..a_QOE éAI—xIO'

[O:E~¥S

ﬂ—|

2 4

4ot=

TIAFTHO

gt

SLICH

lQ)d
— T —

KI

O|E{ (metric)L}A} T333 Al2l=
=3 X2 Ry s
| d kl k &=+
T333 2202 20.0 1.50 2 150 37 15 15 12 4
T333 3203 20.0 1.50 2 200 37 15 15 12 4
T333 2220 22.0 2.50 2 150 35 17 16 13 4
T333 3220 22.0 2.50 2 200 35 17 16 13 4
T333 2221 22.0 2.00 2 150 35 17 16 13 4
T333 3221 22.0 2.00 2 200 35 17 16 13 4
T333 2222 22.0 1.50 2 150 35 17 16 13 4
T333 3222 22.0 1.50 2 200 35 17 16 13 4
T333 2240 24.0 3.00 2 150 42 19 18 15 4
T333 3240 24.0 3.00 2 200 42 19 18 15 4
T333 2241 24.0 2.00 2 150 35 19 18 15 4
T333 3241 24.0 2.00 2 200 35 19 18 15 4
T333 2242 24.0 1.50 2 150 35 19 18 15 4
T333 3243 24.0 1.50 2 200 35 19 18 15 4
D A71ERQE Ma7sstoL] A= ol Hhghth

&31:031-942-1701, B £:031-942-1706 | <§1C> GmHE 39



Sd3JE AN0IE
LONG SHANK SPIRAL FLUTED TAP

Y-\ AR sjoops9dng

rBgez AR

O1x|(Inch) L}AL

EDP No.
T333 5050
T333 5100
T333 6100
T333 5151
T333 6151
T333 7151
T333 5201
T333 6201
T333 7201
T333 8201
T333 5251
T333 6251
T333 7251
T333 8251
T333 5301
T333 6301
T333 7301
T333 8301
T333 5350
T333 6350
T333 7350
T333 8350
T333 8351
T333 6351
T333 7351
T333 8351
T333 6401
T333 7401
T333 8401
T333 6451
T333 7451
T333 8451
T333 7501
T333 8501
T333 7551
T333 8551

53
5/32
3/16
3/16

1/4

1/4

1/4
5/16
5/16
5/16
5/16

3/8

3/8

3/8

3/8
7/16
7/16
7/16
7/16

1/2

1/2

1/2

1/2

1/2

1/2

1/2

1/2

5/8

5/8

5/8

3/4

3/4

3/4

7/8

7/8

1"
1"

o=Xo=z

e

SHAGH= TATHO &

T333 AlZI=
3 =
as | uapls | IEEE
32 w 3.969
24 w 4,763
24 w 4.763
20 UNC 6.350
20 UNC 6.350
20 UNC 6.350
18 UNC 7.938
18 UNC 7.938
18 UNC 7.938
18 UNC 7.938
16 UNC 9.525
16 UNC 9.525
16 UNC 9.525
16 UNC 9.525
14 UNC 11.112
14 UNC 11.112
14 UNC 11.112
14 UNC 11.112
12 w 12.7
12 w 12.7
12 w 12.7
12 w 12.7
13 UNC 12.7
13 UNC 12.7
13 UNC 12.7
13 UNC 12.7
11 UNC 15.875
11 UNC 15.875
11 UNC 15.875
10 UNC 19.050
10 UNC 19.050
10 UNC 19.050
9 UNC 22.225
9 UNC 22.225
8 UNC 25.4
8 UNC 25.4

o[n
Iy

NNNNDNDPNDNNPNDNDNNNDNDDNDNNNDNDNNMNNDNNNNDNDNNNDDNDNNNDNDNNNDNDDNDDN

g
L
100
100
120
100
120
150
100
120
150
200
100
120
150
200
100
120
150
200
100
120
150
200
100
120
150
200
120
150
200
120
150
200
150
200
150
200

oy

14
16
16
19
19
19
22
22
22
22
24
24
24
24
25
25
25
25
29
29
29
29
29
29
29
29
32
32
32
37
37
37
38
38
45
45

© © © © © OV O© O© 00 WO NN~

NNRPRPRRERRRRE R
COoON~NDMBMBMNDNON

=

A A BDBDDEBEDOOWWWWWWWWWWWWWWWWWWwwWwowowWwwWwwowwwowow ILI";

D AIEEQIOE AE7Fsat ey AFQF Highl T

40 <10 @EHRTIE | & 51031-942-1701, B £:031-942-1706



sjooy19dng

-

HSS

LONG SHANK HSS HAND PIPE TAP

EDP No.
T312 | 2110
T312 = 2210
T312 | 2310
T312 | 2410
T312 | 2111
T312 | 2211
T312 | 2311
T312 | 2411
T312 | 2112
T312 | 2212
T312 | 2312
T312 | 2412
T312 | 2113
T312 | 2213
T312 | 2313
T312 | 2413
T312 | 2114
T312 | 2214
T312 | 2314
T312 | 2414
T312 | 2215
T312 | 2315
T312 | 2415

53
PT 1/8
PT 1/8
PT 1/8
PT 1/8
PT 1/4
PT 1/4
PT 1/4
PT 1/4
PT 3/8
PT 3/8
PT 3/8
PT 3/8
PT 1/2
PT 1/2
PT 1/2
PT 1/2
PT 3/4
PT 3/4
PT 3/4
PT 3/4
PT 1"
PT 1"
PT 1"

opn
Il

NNDNPNDNDNNNDDNDNNNDNNNDNDNNNDDNDDNDNDDNDDN

7|1EBSIA
13
13
13
13
21
21
21
21
21
21
21
21
25
25
25
25
25
25
25
25
32
32
32

Mg

L
100
120
150
200
100
120
150
200
100
120
150
200
100
120
150
200
100
120
150
200
120
150
200

imls A
| d ki k =T
19 8 9 6 4
19 8 9 6 4
19 8 9 6 4
19 8 9 6 4
28 11 12 9 4
28 11 12 9 4
28 11 12 9 4
28 11 12 9 4
28 14 14 11 4
28 14 14 11 4
28 14 14 11 4
28 14 14 11 4
35 18 17 14 4
35 18 17 14 4
35 18 17 14 4
35 18 17 14 4
35 23 20 17 4
35 23 20 17 4
35 23 20 17 4
35 23 20 17 4
45 26 24 21 4
45 26 24 21 4
45 26 24 21 4

D A7 EEQNE ME7Fssley AF 2 Highut.

& 3:031-942-1701, B £:031-942-1706 | <§1C> s 41



1
Wil Hss

i LONG SHANK HSS HAND PIPE TAP

Y-\ AR sjoops9dng

e ET=E]
o] k =
T312 | 2121 | PF1/8 28 2 100 19 8 9 6 4
T312 2221 | PF1/8 28 2 120 19 8 9 6 4
T312 2321 PF 1/8 28 2 150 19 8 9 6 4
T312 2421 PF 1/8 28 2 200 19 8 9 6 4
T312 2122 PF 1/4 19 2 100 28 11 12 9 4
T312 2222 PF 1/4 19 2 120 28 11 12 9 4
T312 2322 PF 1/4 19 2 150 28 11 12 9 4
T312 2422 PF 1/4 19 2 200 28 11 12 9 4
T312 2123 PF 3/8 19 2 100 28 14 14 11 4
T312 2223 PF 3/8 19 2 120 28 14 14 11 4
T312 2323 PF 3/8 19 2 150 28 14 14 11 4
T312 2423 PF 3/8 19 2 200 28 14 14 11 4
T312 2124 PF 1/2 14 2 100 35 18 17 14 4
T312 2224 PF 1/2 14 2 120 35 18 17 14 4
T312 2324 PF 1/2 14 2 150 35 18 17 14 4
T312 2424 PF 1/2 14 2 200 35 18 17 14 4
T312 2126 PF 3/4 14 2 100 35 23 20 17 4
T312 2226 PF 3/4 14 2 120 35 23 20 17 4
T312 2326 PF 3/4 14 2 150 35 23 20 17 4
T312 2426 PF 3/4 14 2 200 35 23 20 17 4
T312 | 2228 | PF1" 11 2 120 45 26 21 21 4
T312 2328 PF 1" 11 2 150 45 26 21 21 4
T312 2428 PF 1" 11 2 200 45 26 21 21 4

D A71EEQNE ME Fssley AE9E Highut

42 <10 @EHRTIE | & 51031-942-1701, B £:031-942-1706






JIENE

TAP £X HZc2l 21

@ WEIY NS =2 MEE coe
1. D{E2! LIAKZ (For Metric Threads)

FE L. B
e T (s oo

X 0.4 1.60 1.679 1.567 M15 x 15 13.50 13.676 13.376

M2 X 0.25 1.75 (1.785) | (1.729) M15 x 1 14.00 14.153 13.917
M2.2 X 0.45 1.75 1.838 1.713 M16 X 2 14.00 14.210 13.835
M2.2 x 0.25 1.95 (1.985) | (1.929) M16 x 1.5 14.50 14.676 14.376
M2.3 x 0.4 1.90 1.979 1.867 M16 X 1 15.00 15.153 14.917
M2.3 x 0.25 2.05 2.061 2.001 M17 x 15 15.50 15.676 15.376
M2.5 X 0.45 2.10 2.138 2.013 M17 X1 16.00 16.153 15.917
M2.5 x 0.35 2.20 2221 2121 M18 x 2.5 15.50 15.744 15.294
M2.6 x 0.45 2.20 2.238 2.113 M18 x 2 16.00 16.210 15.835
M2.6 x 0.35 2.20 2.246 2.186 M18 x 1.5 16.50 16.676 16.376
M3 %05 2.50 2599 2.459 M18 x 1 17.00 17.153 16.917
M3 x 0.35 2.70 2721 2.621 M20 x 2.5 17.50 17.744 17.294
M3.5 x 0.6 2.90 3.010 2.850 M20 X 2 18.00 18.210 17.835
M3.5 x 0.35 3.20 3.221 3.121 M20 x 1.5 18.50 18.676 18.376
M4 X 0.7 3.30 3.422 3.242 M20 X 1 19.00 19.153 18.917
M4 X 0.5 3.50 3.599 3.459 M22 x 2.5 19.50 19.744 19.294
M4.5 X 0.75 3.80 3.878 3.688 M22 X 2 20.00 20.210 19.835
M4.5 x 0.5 4.00 4.099 3.959 M22 x 15 20.50 20.676 20.376
M5  x 0.8 4.20 4.334 4.134 M22 x 1 21.00 21.153 20.917
M5 X 05 4.50 4.599 4.459 M24 3 21.00 21.252 20.752
M6 X 1 5.00 5.153 4.917 M24 X 2 22.00 22.210 21.835
M6 X 0.75 5.30 5.378 5.188 M24 x 15 22.50 22.676 22.376
M6 X 0.5 5.50 5.550 5.400 M24 x 1 23.00 23.153 22.917
M7 x1 6.00 6.153 5.917 M25 x 2 23.00 23.210 22.835
M7 X 0.75 6.30 6.378 6.188 M25 x 1.5 23.50 23.676 23.376
M7 X 0.5 6.50 6.550 6.400 M25 x 1 24.00 24.153 23.917
M8  x 1.25 6.80 6.912 6.647 M26 x 1.5 24.50 24.676 24.376
M8  x1 7.00 7.153 6.917 M27 x 3 24.00 24.252 23.752
M8  x 0.75 7.30 7.378 7.188 M27 x 2 25.00 25.210 24.835
M8 X 0.5 7.50 7.520 7.400 M27 x 15 25.50 25.676 25.376
M9 X 1.25 7.80 7.912 7.647 M27 x 1 26.00 26.153 25.917
M9 X1 8.00 8.153 7.917 M28 X 2 26.00 26.210 25.835
M9 X 0.75 8.30 8.378 8.188 M28 x 1.5 26.50 26.676 26.376
M10 x 15 8.50 8.676 8.376 M28 x 1 27.00 27.153 26.917
M10 X 1.25 8.80 8.912 8.647 M30 x 3.5 26.50 26.771 26.211
M10 x 1 9.00 9.153 8.917 M30 X 3 27.00 27.252 26.752
M10 X 0.75 9.30 9.378 9.188 M30 X 2 28.00 28.210 27.835
M10 X 0.5 9.50 9.520 9.400 M30 x 1.5 28.50 28.676 28.376
M1l x 15 9.50 9.676 9.376 M30 x 1 29.00 29.153 28.917
M1l X1 10.00 10.153 9.917 M32 x 2 30.00 30.210 29.835
M1l X 0.75 10.30 10.378 10.188 M32 x 15 30.50 30.676 30.376
M12 X 1.75 10.30 10.441 10.106 M33 X 3.5 29.50 29.771 29.211
M12 X 15 10.50 10.676 10.376 M33 X 3 30.00 30.252 29.752
M12 X 1.25 10.80 10.912 10.647 M33 x 2 31.00 31.210 30.835
M12 X 1 11.00 11.153 10.917 M33 x 15 31.50 31.676 31.376
M12 X 0.5 11.50 11.520 11.400 M35 x 1.5 33.50 33.676 33.376
M14 x 2 12.00 12.210 11.835 M36 X 4 32.00 32.270 31.670
M14 X 15 12.50 12.676 12.376 M36 x 3 33.00 33.252 32.752
M14 X 1 13.00 13.153 12.917 M36 x 2 34.00 34.210 33.835

&31:031-942-1701, B £:031-942-1706 | <§10> @FHE 63



SER|
(Thread Size)

M36
M38
M39
M39
M39
M39
M40
M40
M40
M42
M42
M42
M42
M42

X 1.5
X 1.5
X 4
X 3
X 2
X 1.5
X 3
X 2
X 1.5
X 4.5
X 4
X 3
X 2
X 1.5

=2xd
(Drill Size)
(mm)

34.676
36.676
35.270
36.252
37.210
37.676
37.252
38.210
38.676
37.799
38.270
39.252
40.210
40.676

34.376
36.376
34.670
35.752
36.835
37.376
36.752
37.835
38.376
37.129
37.670
38.752
39.835
40.376

SEX|
(Thread Size)
M45 X 4.5
M45 X 4
M45 X 3
M45 X 2
M45 X 1.5
M48 X5
M48 X 4
M48 X 3
M48 X 2
M48 X 1.5
M50 X 3
M50 X 2
M50 X 1.5

=2xgd
(Drill Size)
(mm)
40.50
41.00
42.00
43.00
43.50
43.00
44.00
45.00
46.00
46.50
47.00
48.00
48.50

40.799
41.270
42.252
43.210
43.676
43.297
44.270
45.252
46.210
46.676
47.252
48.210
48.676

40.129
40.670
41.752
42.835
43.376
42.587
43.670
44.752
45.835
46.376
46.752
47.835
48.376

* D11 JISE UWALIALS 2X&. 2ERITHJIS 2301 8= D1 (

2. SL|u}o| LA (For Unified Threads)

#2
#2
#3
#3
#4
#4
#5
#5
#6
#6
#8
#8
#10
#10
#12
#12
#12
1/4
1/4
1/4
5/16
5/16
5/16
3/8
3/8
3/8
7/16
7/16
7/16
1/2
1/2
1/2

SER|
(Thread Size)

- 56 UNC
- 64 UNF
- 48 UNC
- 56 UNF
- 40 UNC
- 48 UNF
- 40 UNC
- 44 UNF
- 32 UNC
- 40 UNF
- 32 UNC
- 36 UNF
- 24 UNC
- 32 UNF
- 24 UNC
- 28 UNF
- 32 UNEF
- 20 UNC
- 28 UNF
- 32 UNEF
- 18 UNC
- 24 UNF
- 32 UNEF
- 16 UNC
- 24 UNF
- 32 UNEF
- 14 UNC
- 20 UNF
- 28 UNEF
- 13 UNC
- 20 UNF
- 28 UNEF

(Drill Size)
(mm)

1.80
1.85
2.10
2.10
2.30
2.40
2.60
2.70
2.80
2.90
3.40
3.50
3.90
4.10
4.50
4.60
4.70
5.10
5.50
5.60
6.60
6.90
7.10
8.00
8.50
8.70
9.40
9.90
10.20
10.80
11.50
11.80

1.871 1.695
1.912 1.756
2.146 1.941
2.197 2.025
2.385 2.157
2.458 2.271
2.697 2.487
2.740 2.551
2.895 2.642
3.022 2.820
3.530 3.302
3.606 3.404
3.962 3.683
4.165 3.963
4.597 4.344
4.724 4.496
4.826 4.623
5.257 4.979
5.588 5.360
5.690 5.486
6.731 6.401
7.035 6.782
7.264 7.087
8.153 7.798
8.636 8.382
8.865 8.661
9.550 9.144
10.033 9.729
10.338 10.135
11.023 10.592
11.607 11.329
11.938 11.709

(Thread Size)
9/16 - 12 UNC
9/16 - 18 UNF
9/16 - 24 UNEF
5/8 -11UNC
5/8 - 18 UNF
5/8 - 24 UNEF
3/4 -10 UNC
3/4 - 16 UNF
3/4 - 20 UNEF
7/8 - 9 UNC
7/8 - 14 UNF
7/8 - 20 UNEF
1 - 8UNC
1 - 12 UNF
1 - 20 UNEF
1*1/8 - 7 UNC

1*1/8 - 12 UNF
1*1/8 - 18 UNEF
1*1/8 - 8 UN
1*1/4 - 7 UNC
1*1/4 - 12 UNF
1*1/4 - 18 UNEF
1*1/4 - 8 UN
1*3/8 - 6 UNC
1*3/8 - 12 UNF
1*3/8 - 18 UNEF
1*3/8 - 8 UN
1*1/2 - 6 UNC
1*1/2 - 12 UNF
1*1/2 - 18 UNEF
1*1/2 - 8 UN
1*5/8 - 18 UNEF

)2l Xa= JS 188 HEsIAEUHCL

=2xg
(Drill Size)
(mm)
12.20
12.90
13.20
13.60
14.50
14.80
16.50
17.50
17.80
19.50
20.50
21.00
22.20
23.20
24.00
25.00
26.50
27.20
25.50
28.20
29.50
30.20
28.50
30.80
32.80
33.50
31.80
34.00
36.00
36.50
35.00
39.80

12.446 11.989
13.081 12.751
13.386 13.132
13.868 13.386
14.681 14.351
14.986 14.732
16.840 16.307
17.678 17.323
17.958 17.678
19.761 19.177
20.675 20.270
21.133 20.853
22.606 21.971
23.571 23.114
24.308 24.028
25.349 24.638
26.746 26.289
27.381 27.051
25.781 25.146
28.524 27.813
29.921 29.464
30.556 30.226
28.956 28.321
31.115 30.353
33.096 32.639
33.731 33.401
32.131 31.496
34.290 33.528
36.271 35.814
36.881 36.576
35.306 34.671
40.081 39.751

64 <S> @EHRTIE | & 51031-942-1701, B £:031-942-1706



TAP £3 MZCE! 5

resmess oo ISR

HMZEE Ay

erTools

2. SL|T0| LIAKR (For Unified Threads)

o [={=1P |
i,éxl_/'\_ = —|§

SER|
(Thread Size)

ceixg
(Drill Size)
(mm)

Z|cH(Max)

Z|A(Min)

(Thread Size) (D?nuwsnife)
1*5/8 - 8 UN 38.20
1*5/8 - 12 UN 39.20
1*3/4 - 5UNC |  39.50
1*3/4 - 8UN 41.20

D1 (mm)
Z|cH(Max) Z|A(Min)
38.481 37.846
39.446 38.989
39.827 38.964
41.656 41.021

1*3/4 -12 UN

2 - 4*1/2 UNC
2 - 8UN

2 - 12UN

42.164
44.679
47.371
48.514

* D1 LHELIALS] EXIE.

. YI=2IA LIAKZ (For Withworth Threads)

UNC2} UNF LEAL= JIS 2B= 2 A EotR & LTt

BYR|S D) Y|

(Thread Size) Z|CH(Max) E|A(Min) (Thread Size) Z|CH(Max) Z|A(Min)
1/8 W 40 2.65 2.60 718 W 9 19.50 19.30
5/32 W 32 3.25 3.20 1 W 8 22.40 22.00
3/16 W 24 3.75 3.70 1*1/8 W 7 25.00 24.80
1/4 W 20 5.10 5.00 1*1/4 W 7 28.30 28.00
5/16 W 18 6.60 6.50 1*3/8 W 6 30.50 30.30
3/8 W 16 8.00 7.90 1*1/2 W 6 33.80 33.50
7116 W 14 9.40 9.30 1*5/8 W 5 36.00 35.70
1/2 W 12 10.70 10.50 1*3/4 W 5 39.20 39.00
9/16 W 12 12.30 12.00 1*7/8 W 4*1/2 41.80 41.50
5/8 W 11 13.70 13.50 2 W 4*1/2 45.00 44.70
34 W 16.70 16.50

* D1 1 JISaE WELAL 2XIE. 2FRIe7HIS 280 = D1 ()2 A+E JIS 158 HESIUSLIC,

4. PT 22 E|0 | LIAFZ (PT Taper Pipe Threads )

2| S CH(Max) Z/CH(Max)
ez i) CH(Max) Ch(Max) = =
PT 1/16 - 28 6.10 6.20 6.244 6.384
PT1/8 -28 8.10 8.20 8.249 8.388
PT1/4 -19 10.70 11.00 10.962 11.174
PT3/8 -19 14.20 14.50 14.448 14.658
PT12 -14 17.60 18.00 17.979 18.263
PT3/4 -14 23.00 23.50 23.378 23.663
PT1  -11 29.00 29.50 29.459 29.822
PT 1*1/4 - 11 37.50 38.00 37.976 38.339
PT 1*1/2 - 11 43.40 44.00 43.869 44.232
PT2  -11 54.90 55.50 55.412 55.844

5. PS 22 ZIsH LA} (PS Straight Pipe Threads )

S2x

(Drill Size)

(mm)

S|

(Thread Size)

caxg
(Drill Size)
(mm)

SER|
(Thread Size)
PS1/16 - 28
PS1/8 - 28
PS1/4 - 19
PS3/8 -19
PS1/2 - 14

6.50
8.50
11.40
15.00
18.50

D1 (mm)
Z|cH(Max) Z|AN(Min)
6.632 6.490
8.637 8.495
11.549 11.341
15.054 14.846
18.773 18.489

PS3/4 -14
PS1 -11
PS 1*1/4 - 11
PS 1*1/2 - 11
PS 2 -11

24.00
30.20
38.80
44.80
56.50

D1 (mm)
Z|cH(Max) E=E(Vp)]
24.259 23.975
30.471 30.111
39.132 38.772
45.025 44.665
56.836 56.476

& 3:031-942-1701, B £:031-942-1706 | <§1C> FTHE

65



TAP 53 HIcg 52
6. PF Zk2 T3H LIAL (PF Straight Pipe Threads)
52X A cax D1 (mm) = x| X[ A caxg
SEX| Qi SEX| Qi
(Thread Size) (D?rllﬁl)ze) |CH(Max) £ AMin) (Thread Size) (Dalrl]rsl:)ze) HC(Max) £ A(Min)
PF 1/16 - 28 6.70 6.843 6.561 PF3/4 -14 24.50 24.658 24.117
PF1/8 -28 8.70 8.848 8.566 PF 1 -11 30.50 30.931 30.291
PF1/4 - 19 11.70 11.890 11.445 PF 1*1/4 - 11 39.20 39.592 38.952
PF3/8 -19 15.20 15.395 14.950 PF 1*1/2 - 11 45.00 45.485 44.845
PF1/2 -14 19.00 19.172 18.63 PF 2 -11 57.00 57.296 56.656

7. NPT O[AIZL2 B0 | LIAKZ (NPT American Taper Pipe Threads)

D1 (mm)
SARX|E AR R
(Thread Size) (Thread S (Thread S
NPT 1/16 -27 5.94 0.234 6.15 0.242
NPT 1/8 -27 8.33 0.328 8.43 0.332
NPT 1/4 -18 10.72 0.422 11.13 0.438
NPT 3/8 -18 14.27 0.562 14.27 0.562
NPT 1/2 -14 17.48 0.688 17.86 0.703
NPT 3/4 -14 22.63 0.891 23.01 0.906
NPT 1 -11*1/2 28.58 1.125 28.98 1.141
NPT 1*1/4-11*1/2 37.31 1.469 37.69 1.484
NPT 1*1/2-11*1/2 43.26 1.703 43.66 1.719
NPT 2 -11*1/2 55.17 2.172 55.58 2.188
NPT 2/1/2 -8 65.48 2.578 66.27 2.609

8. NPTF =210 |&! O[AlZLZ |0 | LIAK2 (NPTF Dryseal American Taper Pipe Threads)

x|

(Thread S

(Thread Size)

ER[
(Thread S

NPTF 1/16 -27 5.94 0.234 6.15 0.242
NPTF 1/8 -27 8.33 0.328 8.43 0.332
NPTF 1/4 -18 10.72 0.422 11.13 0.438
NPTF 3/8 -18 14.27 0.562 14.27 0.562
NPTF 1/2 -14 17.48 0.688 17.86 0.703
NPTF 3/4 -14 22.63 0.891 23.01 0.906
NPTF 1 -11*1/2 28.58 1.125 28.98 1.141
NPTF 1*1/4 -11*1/2 37.31 1.469 37.69 1.484
NPTF 1*1/2 -11*1/2 43.26 1.703 43.66 1.719
NPTF 2 -11*1/2 55.17 2.172 55.58 2.188
NPTF 2/1/2 -8 65.48 2.578 66.27 2.609

66 <S> FEHRTIE | & 51031-942-1701, B £:031-942-1706



cecumicn. one ELEALIN

=2 D1 (mm) SAIR|A ez D1 (mm)

(Thread Size) m%gge) ZCH(Max) 2A(Min) (Thread Size) (D?rI:]rsnl)ze) Z|Cf(Max) & A(Min)
M2.5 X 0.45 2.6 2.65 2.60 M10 X1 10.3 10.42 10.25
M2.6 X 0.45 2.7 2.75 2.70 M10 X 1.25 10.4 10.52 10.31
M3 X 0.5 3.1 3.20 3.12 M12 X 1.25 12.5 12.52 12.31
M4 X 0.7 4.2 4.30 4.17 M12 X 1.5 12.5 12.62 12.37
M5 X 0.8 5.2 5.33 5.16 M14 X 1.5 14.5 14.62 14.37
M6 X1 6.3 6.42 6.25 M16 X 1.5 16.5 16.62 16.37
M8 X 1.25 8.4 8.52 8.31 M18 X 1.5 18.5 18.62 18.37
M10 X 15 10.5 10.62 10.37 M20 X 1.5 20.5 20.62 20.37
M12 X 1.75 12.5 12.73 12.43 M20 X 2 20.5 20.83 20.47
M14 X 2 14.5 14.83 14.49 M22 X 1.5 22.5 22.62 22.37
M16 X 2 16.5 16.83 16.49 M24 X 1.5 24.5 24.62 24.37
M18 X 2.5 19.0 19.04 15.58 M24 X 2 24.5 24.83 24.47
M20 X 2.5 21.0 21.04 20.58 M30 X 1.5 30.5 30.62 30.37
M22 X 25 23.0 23.04 22.58

M24 X 3 25.0 25.25 24.70

10. SL|T0| 2IME YU LIAKZ (For Unified Screw Thread Insert)

T = D1 (mm) . cexz D1 (mm)

(Tveaa Sze) Ctmg | HoiMa) | H20in) (Tvcad Sze) Oty HoiMa) | H20Min)
No. 2-56 UNC 23 2.39 229  No.4-48 UNF 3 3.05 2.97
No. 3-48 UNC 27 2.74 264  No.6-40 UNF 3.7 3.78 3.66
No. 4-40 UNC 3.0 3.07 295  No.8-36 UNF 44 4.44 4.32
No. 5-40 UNC 33 3.38 325  No.10-32 UNF 5.0 5.13 4.98
No. 6-32 UNC 3.7 3.81 366  No.14-28UNF | 66 6.71 6.53
No. 8-32 UNC 44 4.47 432  No.5/1624UNF| 82 8.38 8.20
No. 10-24 UNC 5.1 5.21 505  No.3/8-24UNF | 98 9.96 9.78
No. 12-24 UNC 5.7 5.77 561  No.7/1620UNF| 115 11.63 11.43
No.14-20UNC | 67 6.78 663  No.1220UNF | 131 13.26 13.03
No.5/16-18 UNC| 8.4 8.48 833  No.9/16-18UNF 147 14.88 14.66
No.3/8-16 UNC | 10.0 10.11 991  No.5/8-18UNF | 163 16.48 16.26
No.7/16-14UNC | 115 11.76 1151  No.3/4-16 UNF | 159 19.68 10.43
No.1/2-13UNC | 131 13.34 1308  No.7/8-14UNF | 227 22.86 22,61
No.9/16-12UNC| 147 14.94 1468 No.1-12 UNF 26.0 26.04 25.76

11. NPTF =20 |&! OJAIZLZ E|0 | LIAK2 (NPTF Dryseal American Taper Pipe Threads)

E2IXIA(Drill Size)(mm)

SEIX|Z B S2(Tap Limits)

(Thread Size) GH7 GH10 GH11
#2 - 56 UNC - 1.99 2.01 - - - - -
#4 - 40 UNC 255 2.56 2.58
#5 - 40UNC - 2.88 2.89 2.91 - --- --- ---
#6 - 32 UNC --- 3.12 3.13 3.15 3.16 === - -
#8 - 32 UNC --- -—- 3.80 3.81 3.82 == - -
#10 - 24 UNC --- --- --- 4.32 4.33 4.34 === ===
#12 - 24 UNC --- --- --- 4.98 4.99 5.01 - -
1/4 - 20 UNC --- --- --- 5.72 5.74 5.75 - -—-

& 31:031-942-1701, B £:031-942-1706 | <§1C> HHE 67



SuperTools

= X1 2 NO

12. HIE2! HZ=EZ (For Metric Fluteless Taps)

E—IZIZA(Drill Size)(mm)

SEX|L £ S2(Tap Limits)

(Thread Size) GH10 GH11
M2 X 0.4 1.83 1.84 --- --- === === === ===
M2.2 X 0.45 2.00 2.01 == == === === === ==
M2.3 X 0.4 2.13 2.14 - - === === == =
M2.5 X 0.45 2.30 2.31 === === === === === ===
M2.6 X 0.45 2.40 2.41 === === === == === ===
M3 X 0.5 2.77 2.78 2.79 2.81 = = == ===
M3 X 0.35 2.85 2.87 2.88 2.89 == == === ===
M3.5 X 0.6 -- 3.23 3.24 3.25 === === === ===
M4 X 0.7 -- 3.67 3.68 3.70 - - === ==
M4 X 0.5 -- 3.78 3.79 3.81 -—- --- === ==
M5 X 0.8 - 4.61 4.63 4.64 - - == =
M5 X 0.5 - 4.78 4.79 4.81 === === == ===
M6 X1 - 5.50 5.51 5.53 === === === ===
M6 X 0.75 -- 5.64 5.65 5.67 = = == ===
M6 X 0.5 --- 5.78 5.79 5.81 == === === ===
M7 X1 -- 6.50 6.51 6.53 === === === ===
M8 X 1.25 --- - 7.37 7.39 7.40 - - -
M8 X 1 -- - 7.51 7.53 7.54 --- - -
M10 X 1.5 - --- 9.23 9.24 9.26 9.27 - -
M10 X 1.25 - -- 9.37 9.39 9.40 9.41 == ==
M10 X1 - -- 9.51 9.53 9.54 9.55 === ===
M12 X 1.75 -- —= = 11.10 11.12 11.13 11.14 ===
M12 X 1.5 --- - --- 11.24 11.26 11.27 11.28 -—-
M12 X 1.25 -- - - 11.39 11.40 11.41 11.42 -
M12 X1 --- - - 11.53 11.54 11.55 11.56 -
M14 X 2 --- --- - - 12.98 12.99 13.00 13.01
M14 X 1.5 --- - --- --- 13.26 13.27 13.28 13.30
M14 X1 --- --- - - 13.54 13.55 13.56 13.58
M16 X 2 - --- --- - 14.98 14.99 15.00 15.01
M16 X 1.5 --- --- = == 14.26 15.27 15.28 15.30
M16 X1 - -- --- --- 15.54 15.55 15.56 15.58
M18 X 2.5 -- --- --- --- --- 16.71 16.72 16.73
M18 X 1.5 --- --- --- - --- 17.27 17.28 17.30
M20 X 2.5 --- --- --- - --- --- 18.72 18.73
M20 X 1.5 - --- --- --- --- --- 19.28 19.30

13. O[E{LIA} 510 |SE4

1FHAIBY YRS

(for JIS class 1 drill hole dia) (for JIS class 2 drill hole dia)
E|A~ECY RH E[A~F[C]

Min~Max(Thread Overlap Rata : %) QE Min~Max(Thread Overlap Rata : %)

2BLIAMSETIRIS 1SLHAIBETHRIS

(for JIS class 1 drill hole dia) (for JIS class 2 drill hole dia)
RH E|A~E|CY RH E|A~F|Cf

"JE Min~Max(Thread Overlap Rata : %) QE Min~Max(Thread Overlap Rata : %)

2BLIMERTIRIS

SAX[$
(Thread Size)

SR

(Thread Size)  |RH

=

M1 x 0.25 0858~0879(100-85) 4 0858~0879(100-80) M3 x 0.5 |5 272~277 6 272~278

M1.2 X 0.25 | 2 1058-1079(100-85) 4 1058~1087(100-80) M3 x 0.35 | 3 280~284 (100-8)) 5 280~285 (100~75
M1.4 X 0.3 | 2 123-12 (10085 4 123~12 (100-80) M3.5 X 0.6 | 3 316-321 (10085 5 316~325 (100~75)
M1.6 X 0.35 | 2 140~144 (100-85) 4 140~145 (10075 M4 x 0.75 | 3 357-364 (10085 6 357~364 (100~85)
M1.7 X 0.35 | -- 150~154 (100-80) 4 150~155 (100-75) M4 X 0.7 | 6 360~366 (10085 7 360~366 (100~85)
M1 x 035 2 160~164 (100-80) 4 160~165 (10075 M4 x 0.5 | 3 371-377 (100-8) 6 371~379 (100~75)
M2 X 04 |2 177~182 (100-80) 4 177~182 (100-80) M5 x 0.9 | 3 449~459 (100-85) 7 449~459 (100~85)
M2 X 0.25 | 2 1858~1887(100-80) --- 1858~1887(100~80) M5 x 0.8 | 3 455~462 (10085 8 455~464 (100~80)
M2.3 X 0.4 |- 207-212 (100-80) 4 207~213 (100 5) M5 X 05 |3 272-477 (100-80) 6 455~464 (100-75)
M2.5 X 0.45 | 3 224~230 (100-80) 5 224~231 (100-75) M5 x 1 4 543-552 (100-85) 7 543~555 (100-80)
M2.6 X 0.45 |- 234~240 (100-80) 5 234~241 (100~75 M6 X 0.75 | 3 557~564 (100~85) 7 A72~479 (100-80)
M3 X 0.6 | 3 272-273 (100-90) 5 266~273 (100-90)

68 <S> @EHRTIE | & 51031-942-1701, B £:031-942-1706



cecumicn. one ELEALIN

TAP 3 HMIZcal 51

14. D[E{LIAL =R
12LARRETHRIE
(for JIS class 1 drill hole dia) (for JIS class 2 drill hole dia)

RH & A~Z|Cl RH Z|A~ZCH

@E Min~Max(Thread Overlap Rata : %) "JE Min~Max(Thread Overlap Rata : %)

28LIABERERIS 1SLARREAYHRIS

(for JIS class 1 drill hole dia) (for JIS class 2 drill hole dia)
RH Z|A~Z|r} RH Z| A~2|cl

@E Min~Max(Thread Overlap Rata : %) ’gE Min~Max(Thread Overlap Rata : %)

2BLIAIZERYRIE

SEX| =Ex

(Thread Size) (Thread Size)

M1 X 0.25 | 2 |087~089 (100~85 4 090~092 (100~80) X 4 | 745~751 (100~85) 748~757 (100~80)
M1.1 X 0.25 | 2 | 097~099 (100~85) 4 100~102 (100~80) M10 X 1.5 |5 916~922 (100~90) 7 9.18~928 (100-85)
M1.2 X 0.3 | 2 107~109 (100~85 4  110~112 (100~80) M10 X 1.25 | 5 931~938 (100~85) | 7 |9.34~941 (100-85)
M1.4 X 0.35 | 2 | 1244~1263(100~85) 4 |1270~1294(100~80)  M10 X 1 5 946~952 (100~85) | 7 |948~957 (100~80)
M1.7 X 0.35 | 2 |151~154 (100~80) 4 |154~158 (100~75) M12 X 1.75 | 5  1101~11.08(100~90) 8 | 11.05~11.15(100~85)
M2 X 0.35 | 2 |178~182 (100~80) 4  181~185 (100~75) M12 X 15 |5 1116~11.22(100~90) 7  11.18~1128(100~85)
M2.3 X 0.4 | 2 208~212 (100~80) 4 211~215 (100~75) M12 X 1.25 | 5 1131~11.33(100~85) 7 | 11.34~1141(100~85)
M2.5 X 0.25 | 2 |225~229 (100~80) 4 228~233 (100~75) M12 X 1 5 | 1146~1152(100~85) | 7 | 1148~ 1157 (100~80)
M2.6 X 0.4 | 2 |235~239 (100~80) 4 238~243 (100~75) M14 X 2 6 | 1283~1295(100~90) | 10| 1292~ 13,04 (100~85)
M3 X 0.45 | 3 |274~278 (100~80) 5 276~281 (100~75) M14 X 1.5 |5 1316~1322(100~90) 9 | 1321~1330(00~85)
M3.5 x 0.6 | 3 318~321 (100~85 5 320~326 (100~75) M16 X 2 6 | 1487~1495(100~00) | 10| 1492~ 1504 (100~85)
M4 X 0.7 |4 363~367 (100~85) 6 365~370 (100~85) M16 X 1.5 |5 1516~1522(100~90) 9 | 1521~1530(100~80)
M5 X 0.8 |4 457~462 (100~85) 6  459~466 (100~80) M18 X 2.5 | 6 1657~1667(100~90) 11 16.63~16.78 (100~85)
M6 X1 4 | 545~551 (100~85) 7 |548~557 (100~80) M18 X 1.5 | 6 | 17.17~17.23(100~90) 10 17.22~17.31(100~85)
M7 X 1 4 | 645~651 (100~85) 7 | 648~657 (100~80) M20 X 2.5 | 6 1857~1867(100~90) 11 1863~18.78(100~85)
M8 x 1.25 |5 731~738 (l00-85) 7 7.34-741 (100-85) M20 x 1.5 |6 | 1917~1923(100~90) 10 19.22~1931 (100~85)

15. FLIZO[HSLMHFER)
12LIAMEETHRIE | 28LHAREETHRIE
(for JIS class 1 drill hole dia) (for JIS class 2 drill hole dia)
RH Z|A~Fcy RH E|A~ZC

T Min-Max(Thread Overiap Rata : %) | ST | Min~Max(Thread Overiap Rata : %)

1ELAEYTHRIZE

(for JIS class 1 drill hole dia)
RH E| A~E|CY
T | Min~Max(Thread Overlap Rata : %)

2E5LAERTHRIE
(for JIS class 2 drill hole dia)
RH E|A~Z|

T Min~Max(Thread Overiap Rata : %)

SER| 2ExI

(Thread Size) (Thread Size)

No. 2-56UNC | 4 196~202 (10065 3 196~201 (10065 5/16 - 18UNC | 7 718~729 (100-80) 5 715~724 (100-85)
No. 3-48UNC | 4 225-232 (100-65) 3 223~231 (10065  3/8-16UNC | 7 866~878 (100-80) 5 863~873 (100-85)
No. 4-40UNC | 5 252-260 (100-70) 3 250~258 (100-70)  7/1-14UNC | 7 1011~1025(100~80) 5  10.08~10.19 (100-85)
No. 5-40UNC | 5 286~293 (100-70) 3 283~291 (100700  1/2-13UNC | 8 1162~1178(100~80) 6  1160~1168(100~90)
No. 6-32UNC | 5 309~317 (100-70) 3 306~314 (10075  9/1-12UNC |10 1314~1327(100~85) 8 | 1311~1324(100~85)
No. 8-32UNC | 6 375~383 (100-75) 4 374~38 (10075  5/8- 11UNC |11 1462~1476(100-85) 8  1458~1467 (100~90)
No0.10 - 24UNC | 6 426~435 (100-75) 4 424~432 (100-80)  3/4- 10UNC |12 1767~1788(100~80) 9 | 17.63~17.74(100~90)
No.12-24UNC 6 492-501 (100-80) 4 490~492 (100-85  7/8- 9UNC |12 2068~2085(100-85) 9  20.64~20.75 (100-%0)

1/4 - 20UNC| 6 566~576 (100-80) 4 564~574 (100~80) 1- 8UNC |13 2365~2384(100~85) 10 2361~23.74(100~90)

16. 7L |0 [HSLIAKGIO ISR
1SLIAZETHRIE
(for JIS dlass 1 drill hole dia) (for JIS dlass 2 drill hole dia)

RH E|A~E|C] RH E|A~E|C]

B | Min~Max(Thread Overiap Rata :%) | T | Min~Max(Thread Overlap Rata: %)

2BLIAMEEFIRIE 1EHAIBETYRIS

(for JIS class 1 drill hole dia)
RH E|A~E|CY

| Min~Max(Thread Overlap Rata : %)

28LAERTHRIE
(for JIS class 2 drill hole dia)
RH E|A~Z|CY

YT | Min~Max(Thread Overlap Rata : %)

SYX|= SYX|=

(Thread Size) (Thread Size)

No. 2-64UNC | 3 198~204 (100-65 2 197~203 (100-65  5/16 - 24UNC 738~746 (100-80) 5 736~743 (100~85)
No. 3-56UNC | 4 229-235 (100-65 3 228~234 (100-65) 3/8-24UNC | 6 89-~905 (100-80) 5 895~902 (100-85)
No. 4 -48UNC | 4 257~264 (100-70) 3  256~263 (100~70) 7/1-20UNC | 7 1044~1054(100-80) 5 ' 1041~ 1049 (100~85)
No. 5-44UNC | 4 288~295 (100-70) 3 287~2%4 (100~70) 1/2- 20UNC | 7 1202~1212(100-80) 5 1200~ 1205 (100~90)
No. 6-40UNC | 5 319-326 (100-75) 3 316~322 (100-75  9/16 - 18UNC | 9 1355~1366(100~80) 7 1353~ 1358 (100-85)
No. 8-36UNC | 5 380~388 (100~75) 4 379~386 (100~75) 5/8 - 18UNC | 9  1514~1525(100-80) 7 1511~ 1517 (100~90)
No0.10-32UNC| 5 441-448 (100-80) 4 440~446 (100-80) 3/4 - 16UNC |10 1822~1832(100-85) 7 1818~ 18.25(100~90)
No.12-28UNC| 5 500~508 (100-80) 4 499~506 (100~80) 7/8 - 14UNC |11 2127~2138(100-85) 8 21.23~21.27 (100~95)

1/4 - 28UNC| 5 586~593 (100-80) 4 585~592 (100-80) 1-12UNC |12 2428~2441(100-85) 9O | 2424~ 2432 (100~90)

17. SSAZSHALIAIPF(FER)

SYX|=

(Thread Size)

RHYE

| A~

Min~Max(Thread Overlap Rata : %)

SX|=

(Thread Size)

£ A~

Min~Max(Thread Overlap Rata : %)

PF 1/8 6 924~935 (100~85) PF 1/2 8 19.93~20.15 (100~80)
PF 1/4 7 12.41~ 12,62 (100~85) PF 3/4 8 2541~ 25,64 (100~80)
PF 3/8 7 1592~ 16.12 (100~85)

& 3:031-942-1701, B £:031-942-1706 | <§1C> FTHE

69



S

erTools

=Xt T

TAP 3 HIZcal 51y

|

& Lz 2z

LIPS LiAtel Z8 LIRS 2t
y .y HELA JIS B 0205
THE= LAY FH=LpA} JIS B 0207
S OILI01A LA JIS B 0201
JIS B 0206
UNC HELA
ANSI B1.1
=L
UNF . JHELA JIS B 0208
UNEF FLImol LAl S5 FHELIAL 60°
UNS PN ANSI B1.1
UN ()AHA ol
UNJC HELA
UNJF SL|IT}O| LIA| =LA
SuiTo| LhAY LA S
UNJEF (MIL 72) =35| Zh=LtA
UNJ ()&HAO
Tr IE2l ACIZ|Z LiAF JIS B 0216 )
™ 30° AICIZ|Z LIAF JIS B 0216 &2 A 30
W 00° AFCIZ|Z LiA} JIS B 0222 09°
R ZHEE| 0| =LAt . _
Rc 2H2E|O|H HLIAF JIS B 0203 557 1/16 B0l H
Rp ZHEE| 0|1 =LA M| & Ste 2HEFHALIAL
G HZHHLIAL C|AHEZE) JIS B 0202 55°
PF ISOO| Sl= EHESHHLIAL CIAZES) JIS B 0202 F£ M
PT 9= LEH|O|HLIAF (L2 & ° E| O| 1t
ISOOH : Eﬂ_ | LEAL (LN 8) IS B 0203 24 A 55° 1/16 E{| 0| I
PS SLIAM M| Zot= 2HEEE LA (L 8) 55°
NPT |¢l ZHEH 0| LEAF 60° 1/16 E{ 0|
NPSC | 04 BEXNE A4S iy
ANSI/ASEM B1.20.1 o0
NPSM Ojal 28 7| AXES 3 2718 LA
NPTF O|&l =2to| ¥ ZH-EH| O[3 LA ANSI B1.20.3 . _
NPSF | njAl Salo|u SEY otk 2 60° 116 HolH
cTe 22 LB LA 55°
cTC 9125 FMT LA} JIS B 0204 80°
BC XIF7| LIAF JIS B 0225
SM n[AlS LA JIS B 0226 )
cTV XFEI7] EfO[O] B LpAf JIS D 9422 60
v XIS R} EfO[O] H1E= LIA} JIS D 4208
E TN JIS C 7709 R
BA SEXEIN BS 93 47° 30
BSC A2 XA L LIAF BS 811 60°
BSW %2 9=AA BELIA s e
BSF F= AER/A TH=LIAL 55°
BSMO o9 2 3017 LA BS 3569
FG =o| XHAL LIAF DIN 79012 60°
Pg =o| Zpe LA DIN 40430 80°

70 <Sic- @HRTIE | & 51031-942-1701, B £:031-942-1706



SuperTools
cecanncas oars LA

= o
Bof 50| S=E HUEIIERE
A Al

[=]
2O () L= CPME] Al2| =9 FAMS QLT

0:3H O:HE ANEIt

- ANEE7t

FMEE (m/min) HASH
Amjolgs EOIEW &Y Sol=W 14NIRY Y 2424 48402 Moo Sslo|
M B A Z co2%0lst | 813 | 8~13 | 15~25 . 8~13 | 27-32 @ 36 o) 0 A A
3 B A Z C025-045% @712 | 712 | 10~15 : 7~10 | 27~32 | 36 o) 0 A A
3 B A I Cco45%0l4 | 6~9 | 6~9 | 813 - 5-8 | 22~27 @ 25 0 0 A A
g 2 7 SCM 7~12 | 7~12 | 10~15 - 5~8 | 22~27 | 2~5 o) A A A
= & I 25-45HRc (2:55;) (2:2) (é:fO) - - 1520 | 2-5 o) A - -
AE QY AZ SUS 4~7 4~7 | 8~13 - 5~10 3~6 0 0 = =
MEHSHAHAHAZ | SUSE30/SUSE3L | 3-5 3-5 4~6 - - 2~5 0 = = =
2 3 % SKD 6~9 = 6~9 | 7~10 - - 2-5 0 = = =
z z sC 6~11 | 6~11 | 10~15 . c 17~22 | 2-5 0 0 - -
S | FC 10~15 - : 10~20 - 2-5 0 0 0 0
B EYZFH FCD 7412 | 7-12 | 10~20 @ 10~20 - 4-8 0 @ 0 =
s Cu 6~9 | 6~11 | 7~12 | 10~20 @ 7~12 | 2732 = 2-5 0 0 = =
83 -88FE Bs Bsc 10~15 | 10~120 | 15-25 | 15-25 | 7-12 | 27-32 | 5-10 | O 0 0 0
AS-HSFE PB-PBC 6~11 | 6~11 | 10~20 @ 10~20 @ 7~12 6~11 0 0 = -
o2& o AL 10~20 | 10~20 | 15~25 - 10~20 1100~300) 5~10 | © 0 A -
gdznEHIXE AC-ACD 10~15 | 10~15 | 15~20 | 10~20 @ 10~15 '80-~300 10~15 © 0 A -
oIy aEz2TE MC 7~12 | 7~12 | 10~15 | 10~20 . 10~15 | © 0 0 =
oA EHZFE ZDC 1~12 | 7~12 | 10~15 | 10~20 @ 7~12 |27~100  10~15 = © 0 A 0
HHSYEAE | HIU0EYSHSN | 10~20 - 15-25 - 510 | - @ o) o)

A7l AN BRAE HEHHUYERE | 10~20  10~15  10~20  10~20 - 21~32 | 5~10 | - 0 0

&3:031-942-1701, B £:031-942-1706 | <§1C> @emE 71



erTools

E! TECHNICAL DATA

TAP

Cutting Speed (m/min)
8 4 5
Tool r.p.m
1 318 637 955 1274 1592 1910 2548 3185
2 159 318 478 637 796 955 1274 1592
3 106 212 318 425 531 637 849 1062
4 80 159 239 318 398 478 637 796
5 64 127 191 255 318 382 510 637
6 53 106 159 212 265 318 425 531
8 40 80 119 159 199 239 318 398
10 31 64 96 127 159 191 255 318
12 26 53 80 106 133 159 212 265
14 23 45 68 91 114 136 182 227
16 20 40 60 80 100 119 159 199
18 18 35 53 71 88 106 142 177
20 16 32 48 64 80 96 127 159
25 13 25 38 51 64 76 102 127
30 11 21 32 42 53 64 85 106
35 9 18 27 36 45 55 73 91
40 8 16 24 32 40 48 64 80
Cutting Speed (m/min)
20 25 30
Tl%joglI I?a Tool rp.m
1 3822 4777 6396 7962 9554 12739 15924 19108
2 1911 2388 3185 3981 4777 6369 7962 9554
3 1274 1592 2123 2654 3185 4246 5308 6369
4 955 1194 1592 1990 2389 3185 3981 4777
5 764 955 1274 1592 1911 2548 3185 3822
6 637 796 1062 1327 1592 2123 2653 3185
8 478 597 796 955 1194 1592 1990 2388
10 382 478 637 796 955 1274 1592 1911
12 318 398 531 663 796 1062 1327 1592
14 273 341 455 569 682 910 1137 1365
16 239 299 398 498 597 796 995 1194
18 212 265 354 442 531 708 885 1062
20 191 239 318 398 478 637 796 955
25 153 191 255 318 382 510 637 764
30 127 159 212 265 318 425 531 637
35 109 136 182 227 273 364 455 546
40 96 119 159 199 239 118 398 478
2. HjAA
~ r-D-N A 1000 - V
HALE V= 000 I FSES 0
Vo HAMET (m/min) N @ &4 (rpm)
D: ¥ 2A(mm) r:3.14

72 <10 GREE | & 51031-942-1701, B £:031-942-1706



SuperTool

A5
_—

>
W

HSS



HSS

HSS ROUND DIES

x| [« ]| sj00148dng

.—{
I
—
(4]

&=

D311 0011 3.0 20 7 3.6 3 3
D311 0022 3.0 0.6 20 7 3.6 3 3
D311 0088 4.0 0.7 20 7 3.6 3 3
D311 0099 4.0 0.75 20 7 3.6 3 3
D311 0077 4.0 0.5 20 7 3.6 3 3
D311 0198 5.0 0.9 25 9 4.5 3 3
D311 0187 5.0 0.8 25 9 4.5 3 3
D311 0176 5.0 0.75 25 9 4.5 3 3
D311 0165 5.0 0.5 25 9 4.5 3 3
D311 0308 6.0 1.0 25 9 4.5 3 4
D311 0275 6.0 0.75 25 9 4.5 3 4
D311 0253 6.0 0.5 25 9 4.5 3 4
D311 0363 7.0 1.0 25 9 4.5 3 4
D311 0330 7.0 0.75 25 9 4.5 3 4
D311 0319 7.0 0.5 25 9 4.5 3 4
D311 0418 8.0 1.25 25 9 4.5 3 4
D311 0407 8.0 1.0 25 9 4.5 3 4
D311 0396 8.0 0.75 25 9 4.5 3 4
D311 0374 8.0 0.5 25 9 4.5 3 4
D311 0473 9.0 1.25 25 9 4.5 3 5
D311 0462 9.0 1.0 25 9 4.5 3 5
D311 0451 9.0 0.75 25 9 4.5 3 5
D311 0440 9.0 0.5 25 9 4.5 3 5
D311 0561 10.0 1.5 25 9 4.5 3 5
D311 0550 10.0 1.25 25 9 4.5 3 5
D311 0539 10.0 1.0 25 9 4.5 3 5
D311 0506 10.0 0.75 25 9 4.5 3 5
D311 0495 10.0 0.5 25 9 4.5 3 6
D311 0583 11.0 15 25 9 4.5 3 6
D311 0638 11.0 1.25 25 9 4.5 3 6
D311 0627 11.0 1.0 25 9 4.5 3 6
D311 0616 11.0 0.75 25 9 4.5 3 6
D311 0605 11.0 0.7 25 9 4.5 3 6
D311 0594 11.0 0.6 25 9 4.5 3 6
D311 0583 11.0 0.5 25 9 4.5 3 6
D311 0726 12.0 1.75 25 9 4.5 3 6
D311 0715 12.0 15 25 9 4.5 3 6
D311 0704 12.0 1.25 25 9 4.5 3 6
D311 0693 12.0 1.0 25 9 4.5 3 4
D311 0682 12.0 0.75 25 9 4.5 3 4

88 <10 @RBE | & 51031-942-1701, B £:031-942-1706



sjooysadng

HSS

HSS ROUND DIES

&)

LT |
s

PN
As

®
s3ia

D311 0671 12.0 0.5 25 9 4.5 3 4
D311 0891 14.0 2.0 38 13 6 4 5
D311 0869 14.0 15 38 13 6 4 5
D311 0858 14.0 1.25 38 13 6 4 5
D311 0847 14.0 1.0 38 13 6 4 5
D311 0836 14.0 0.75 38 13 6 4 5
D311 0825 14.0 0.5 38 13 6 4 6
D311 1034 16.0 2.0 50 16 6.7 5 4
D311 1012 16.0 15 50 16 6.7 5 4
D311 1001 16.0 1.25 50 16 6.7 5 4
D311 0990 16.0 1.0 50 16 6.7 5 5
D311 0968 16.0 0.75 50 16 6.7 5 5
D311 0957 16.0 0.5 50 16 6.7 5 5
D311 1210 18.0 25 50 16 6.7 5 4
D311 1199 18.0 2.0 50 16 6.7 5 5
D311 1177 18.0 15 50 16 6.7 5 5
D311 1166 18.0 1.25 50 16 6.7 5 5
D311 1155 18.0 1.0 50 16 6.7 5 5
D311 1144 18.0 0.75 50 16 6.7 5 5
D311 1133 18.0 0.5 50 16 6.7 5 5
D311 1364 20.0 25 50 16 6.7 5 5
D311 1353 20.0 2.0 50 16 6.7 5 6
D311 1331 20.0 15 50 16 6.7 5 6
D311 1320 20.0 1.25 50 16 6.7 5 6
D311 1309 20.0 1.0 50 16 6.7 5 6
D311 1298 20.0 0.75 50 16 6.7 5 6
D311 1507 22.0 2.5 50 16 6.7 5 6
D311 1496 22.0 2.0 50 16 6.7 5 6
D311 1474 22.0 15 50 16 6.7 5 6
D311 1463 22.0 1.25 50 16 6.7 5 6
D311 1452 22.0 1.0 50 16 6.7 5 6
D311 1441 22.0 0.75 50 16 6.7 5 6
D311 1639 24.0 3.0 50 16 6.7 5 6
D311 1628 24.0 25 50 16 6.7 5 6
D311 1617 24.0 2.0 50 16 6.7 4 4
D311 1606 24.0 15 50 16 6.7 4 4
D311 1595 24.0 1.25 50 16 6.7 4 4
D311 1584 24.0 1.0 50 16 6.7 4 4

& 31:031-942-1701, B £:031-942-1706 | <§1C> HE 89



$

HSS

HSS ROUND DIES

)

€N
Er

2N
As

sjooyiadng

=5
D311 5000 1/8 40 20 7 3.6 3 3
D311 5022 1/8 44 20 7 3.6 3 3
D311 5121 3/16 24 25 9 4.5 3 3
D311 5143 3/16 28 25 9 4.5 3 3
D311 5154 3/16 32 25 9 4.5 3 3
D311 5077 5/32 32 25 9 4.5 3 3
D311 5088 5/32 36 25 9 4.5 3 3
D311 5253 1/4 20 25 9 4.5 3 4
D311 5275 1/4 28 25 9 4.5 3 4
D311 5352 5/16 18 25 9 4.5 3 4
D311 5374 5/16 24 25 9 4.5 3 4
D311 5429 3/8 16 25 9 4.5 3 5
D311 5451 3/8 24 25 9 4.5 3 5
D311 5506 7116 14 25 9 4.5 3 6
D311 5528 7116 20 25 9 4.5 3 6
D311 5594 1/2 12 25 9 4.5 3 6
D311 5605 1/2 13 25 9 4.5 3 6
D311 5616 1/2 20 25 9 4.5 3 4
D311 5660 9/16 12 38 13 6 4 5
D311 5682 9/16 18 38 13 6 4 )
D311 5726 5/8 11 50 16 6.7 5 4
D311 5748 5/8 18 50 16 6.7 5 4
D311 5858 3/4 10 50 16 6.7 5 5
D311 5880 3/4 16 50 16 6.7 5 5
D311 5990 718 9 50 16 6.7 5 6
D311 6012 7/8 14 50 16 6.7 5 6
D311 6078 1" 8 50 16 6.7 5 6
D311 6100 1" 12 50 16 6.7 5 4
D311 6111 1" 14 50 16 6.7 4 4

90 <sic> @FTE | & 51:031-942-1701, W £:031-942-1706



sjooyiadng

PN

REES "

o =T
D321 0010 PT 1/16 28 25 4.5 3 4
D321 0011 PT 1/8 28 25 4.5 3 5
D321 0021 PT 1/4 19 38 6 4 5
D321 0031 PT 3/8 19 50 6.7 5 5
D321 0041 PT 1/2 14 50 6.7 5 6
D321 0051 PT 3/4 14 63 7.5 6 6
D321 0061 PT 1" 11 75 8.3 6 4

NPT D321

FEE "

o =T
D321 0121 NPT 1/16 27 25 4.5 3 4
D321 0131 NPT 1/8 27 25 4.5 3 5
D321 0141 NPT 1/4 18 38 6 4 5
D321 0151 NPT 3/8 18 50 6.7 5 5)
D321 0161 NPT 1/2 14 50 6.7 5 6
D321 0171 NPT 3/4 14 63 7.5 6 6
D321 0181 NPT 1" 11 1/2 75 8.3 6 4

s3ia

2D




RN

£ o

.1 <D B

§\, ﬁg HSS ROUND PIPE DIES

o ,

%

,D, 8

T

D321 0221 PF 1/16 28 25 9 45 3 4
D321 0231 PF 1/8 28 25 9 45 3 5
D321 0241 PF 1/4 19 38 13 6 4 5
D321 0251 PF 3/8 19 50 16 6.7 5 5
D321 0261 PF 1/2 14 50 16 6.7 5 6
D321 0281 PF 3/4 14 63 20 75 6 6
D321 0301 PF 1" 11 75 25 8.3 6 4
NPS D321
] -
S 53 /x| @D T 2 mm &
D321 0351 NPS 1/16 27 25 9 45 3 4
D321 0361 NPS 1/8 27 25 9 45 3 5
D321 0371 NPS 1/4 18 38 13 6 4 5
D321 0381 NPS 3/8 18 50 16 6.7 5 5
D321 0391 NPS 1/2 14 50 16 6.7 5 6
D321 0401 NPS 3/4 14 63 20 75 6 6
D321 0411 NPS 1" 11172 75 25 8.3 6 4
D






